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TEST BOOKLET SERIES

v uq ns 'kv uq ns 'kv uq ns 'kv uq ns 'kv uq ns 'k
1 -1 -1 -1 -1 - ijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky voijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky voijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky voijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky voijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo';';';';'; dj ysa fd blesa dksbZ dj ysa fd blesa dksbZ dj ysa fd blesa dksbZ dj ysa fd blesa dksbZ dj ysa fd blesa dksbZ

fcuk Nik] QVk ;k NwVk gqvk i`fcuk Nik] QVk ;k NwVk gqvk i`fcuk Nik] QVk ;k NwVk gqvk i`fcuk Nik] QVk ;k NwVk gqvk i`fcuk Nik] QVk ;k NwVk gqvk i`"""""B vFkok iB vFkok iB vFkok iB vFkok iB vFkok iz'z'z'z'z'ukauk auk auk auk a'''''k vkfn u gksA ;fn ,slk gS] rks bls lgh ijh{k.kk vkfn u gksA ;fn ,slk gS] rks bls lgh ijh{k.kk vkfn u gksA ;fn ,slk gS] rks bls lgh ijh{k.kk vkfn u gksA ;fn ,slk gS] rks bls lgh ijh{k.kk vkfn u gksA ;fn ,slk gS] rks bls lgh ijh{k.k
iqfLrdk ls cny ysaAiqfLrdk ls cny ysaAiqfLrdk ls cny ysaAiqfLrdk ls cny ysaAiqfLrdk ls cny ysaA

2 -2 -2 -2 -2 - —i;k /;ku j[ksa fd —i;k /;ku j[ksa fd —i;k /;ku j[ksa fd —i;k /;ku j[ksa fd —i;k /;ku j[ksa fd OMR mÙkj&i=d esa] mfpr LFkku ij] jksy uEcj vkSj ijh{k.k iqfLRkdk vuqØe mÙkj&i=d esa] mfpr LFkku ij] jksy uEcj vkSj ijh{k.k iqfLRkdk vuqØe mÙkj&i=d esa] mfpr LFkku ij] jksy uEcj vkSj ijh{k.k iqfLRkdk vuqØe mÙkj&i=d esa] mfpr LFkku ij] jksy uEcj vkSj ijh{k.k iqfLRkdk vuqØe mÙkj&i=d esa] mfpr LFkku ij] jksy uEcj vkSj ijh{k.k iqfLRkdk vuqØe A,
B, C  ;k ;k ;k ;k ;k D dks] dks] dks] dks] dks] /;ku ls ,oa fcuk fdlh pwd ;k folaxfr ds Hkjus vkSj dwVc) djus dh ftEesnkjh mEEkhnokj/;ku ls ,oa fcuk fdlh pwd ;k folaxfr ds Hkjus vkSj dwVc) djus dh ftEesnkjh mEEkhnokj/;ku ls ,oa fcuk fdlh pwd ;k folaxfr ds Hkjus vkSj dwVc) djus dh ftEesnkjh mEEkhnokj/;ku ls ,oa fcuk fdlh pwd ;k folaxfr ds Hkjus vkSj dwVc) djus dh ftEesnkjh mEEkhnokj/;ku ls ,oa fcuk fdlh pwd ;k folaxfr ds Hkjus vkSj dwVc) djus dh ftEesnkjh mEEkhnokj
dh gSA fdlh Hkh izdkj dh pwd@folaxfr dh fLFkfr esa mÙkj&i=d fujLr dj fn;k tk,xkAdh gSA fdlh Hkh izdkj dh pwd@folaxfr dh fLFkfr esa mÙkj&i=d fujLr dj fn;k tk,xkAdh gSA fdlh Hkh izdkj dh pwd@folaxfr dh fLFkfr esa mÙkj&i=d fujLr dj fn;k tk,xkAdh gSA fdlh Hkh izdkj dh pwd@folaxfr dh fLFkfr esa mÙkj&i=d fujLr dj fn;k tk,xkAdh gSA fdlh Hkh izdkj dh pwd@folaxfr dh fLFkfr esa mÙkj&i=d fujLr dj fn;k tk,xkA

3 -3 -3 -3 -3 - bl ijh{k.k iqfLrdk ij lkFk esa fn, x, dks"Bd esa vkidks viuk  vuqØekad fy[kuk gSA ijh{k.k iqfLrdk ij vkSj dqNdqNdqNdqNdqN
u u u u u fy[ksaA

4 -4 -4 -4 -4 - bl ijh{k.k iqfLrdk esa 100100100100100 iz'uka'k ¼iz'u½ fn, x, gSaA izR;sd iz'uka'k fgUnh vkSj vaxzsth nksuksa esa Nik gSA izR;sd iz'uka'k
esa pkj izR;qÙkj ¼mÙkj½ fn, x, gSaA bueas ls ,d izR;qÙkj dks pqu ysa] ftls vki mÙkj&i=d ij vafdr djuk pkgrs gSaA ;fn
vkidks ,slk yxs fd ,d ls vf/kd izR;qÙkj lgh gS] rks ml izR;qÙkj dks vafdr djsa tks vkidks loksZÙke yxsA izR;sd iz'uka'k
ds fy, dsoy ,d ghdsoy ,d ghdsoy ,d ghdsoy ,d ghdsoy ,d gh izR;qÙkj pquuk gSA

5 -5 -5 -5 -5 - vkidks vius lHkh izR;qÙkj vyx ls fn, x, mÙkj&i=d ij gh vafdr djus gSaA mÙkj&i=d esa esa fn, x, funsZ'k ns[ksA

6 -6 -6 -6 -6 - lHkh iz'uka'kksa ds vad leku gSaA

7 -7 -7 -7 -7 - blls igys fd vki ijh{k.k iqfLrdk ds fofHkUUk iz'uka'kksa  ds izR;qÙkj mÙkj&i=d ij vafdr djuk 'kq: djsa] vkidks izos'k
izek.k&i= ds lkFk izsf"kr vuqns'kksa ds vuqlkj dqN fooj.k mÙkj&i=d esa nsus gSaA

8 -8 -8 -8 -8 - vki vius lHkh izR;qÙkjksa dks mÙkj&i=d esa Hkjus ds ckn rFkk ijh{kk ds lekiu ij dsoy mÙkj&i=ddsoy mÙkj&i=ddsoy mÙkj&i=ddsoy mÙkj&i=ddsoy mÙkj&i=d v/kh{kd dks
lkSai nsaA vkidks vius lkFk ijh{k.k iqfLRkdk ys tkus dh vuqefr gSA

9 -9 -9 -9 -9 - dPPks dke ds fy, i=d ijh{k.k iqfLrdk ds var esa layXu gSA

10 -10 -10 -10 -10 - xyr mÙkjksa ds fy, n.M %xyr mÙkjksa ds fy, n.M %xyr mÙkjksa ds fy, n.M %xyr mÙkjksa ds fy, n.M %xyr mÙkjksa ds fy, n.M %

oLrqfu"B iz'u&i=ksa esa mEehnokj }kjk fn, x, xyr mÙkjksa ds fy, n.M fn;k tk,xkAoLrqfu"B iz'u&i=ksa esa mEehnokj }kjk fn, x, xyr mÙkjksa ds fy, n.M fn;k tk,xkAoLrqfu"B iz'u&i=ksa esa mEehnokj }kjk fn, x, xyr mÙkjksa ds fy, n.M fn;k tk,xkAoLrqfu"B iz'u&i=ksa esa mEehnokj }kjk fn, x, xyr mÙkjksa ds fy, n.M fn;k tk,xkAoLrqfu"B iz'u&i=ksa esa mEehnokj }kjk fn, x, xyr mÙkjksa ds fy, n.M fn;k tk,xkA

(i) izR;sd iz'u ds fy, pkj oSdfYid mÙkj gSaA mEehnokj }kjk izR;sd iz'u ds fy, fn, x, ,d xyr mÙkj ds fy,
i'u gsrq fu;r fd, x;s vadksa dk ,d&frgkb,d&frgkb,d&frgkb,d&frgkb,d&frgkbZ n.M ds :i esa dkVk tk,xkA

(ii) ;fn dksbZ mEEkhnokj ,d ls vf/kd mÙkj nsrk gS] rks bls xyr mÙkjxyr mÙkjxyr mÙkjxyr mÙkjxyr mÙkj ekuk tk,xk] ;|fi fn, x, mÙkjksa esa ls
,d mÙkj lgh gksrk gS] fQj Hkh ml iz'u ds fy, mi;qZDrkuqlkj gh mlh rjg dk n.M fn;k tk,xkA

(iii) ;fn mEehnokj }kjk dksbZ i'u gy ugha fd;k tkrk gS] vFkkZr~ mEehnokj }kjk mÙkj ugha fn;k tkrk gS] rks ml
i'u ds fy, dksbZ n.M ughadksbZ n.M ughadksbZ n.M ughadksbZ n.M ughadksbZ n.M ugha fn;k tk,xkA
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1 -1 -1 -1 -1 - eks<sjk esa lw;Z eafnj ds ckjs esa fuEufyf[kr
dFkuksa ij fopkj djsa%

1- bldk fuekZ.k lksyadh oa'k ds jktk Hkhenso
çFke ds 'kkludky esa gqvk FkkA

2- ;g eafnj cyqvk iRFkj ls gh cuk gSA

3- ;g iq"iorh unh ds rV ij fLFkr gSA

Åij fn, x, dFkuksa esa ls dkSu lk@ls dFku
lgh gS@gSa\

a) dsoy 1 vkSj 2 b) dsoy 2 vkSj 3

c) dsoy 1 vkSj 3 d) 1] 2 vkSj 3

2 -2 -2 -2 -2 - v'kksd ds f'kykys[k ds ckjs esa fuEufyf[kr
dFkuksa ij fopkj djsa%

1- os çk—r vkSj ikyh Hkk"kkvksa esa fy[ks x,
Fks vkSj czkãh fyfi dk mi;ksx fd;k
x;k FkkA

2- mlds f'kykys[k dsoy çkarh; jkt/kkfu;ksa
esa ik, x, FksA

3- v'kksd us f'kykys[k ds ek/;e ls paæxqIr
ekS;Z dh yksxksa ls lh/ks ckr djus dh
fof/k dk vuqlj.k fd;kA

Åij fn, x, dFkuksa esa ls dkSu lk@ls dFku
lgh gS@gSa\

a) dsoy 1 vkSj 2

b) dsoy 2 vkSj 3

c) 1] 2 vkSj 3

d) mi;qZä esa ls dksbZ ugha

3 -3 -3 -3 -3 - pkSngoha 'krkCnh ds xzUFk] ^yhyk fryde^ dk
laca/k gS%%

a) çse dgkuh

b) xf.krh; x.kuk

c) Hkfä lkfgR;

d) O;kdj.k vkSj dkO;'kkL=

4-4-4-4-4- cire-perdu ¼ekse <kapk½ çfØ;k tqM+k gqvk gS%

a) ydM+h dkVus ls

b) ryokj fuekZ.k ls

c) ewfrZdyk fuekZ.k ls

d) 'kSy LFkkiR;

5 -5 -5 -5 -5 - eqxy lkezkT; ds ckjs esa fuEufyf[kr dFkuksa
ij fopkj djsa%

1- eqxy iSr`d i{k ls paxst [kku ds oa'kt
FksA

2- eqxyksa us lemÙkjkf/kdkjh fojklr ds
fjokt dk ikyu fd;kA

3- eqxyksa dks eqxy dgykuk ilan ugha
FkkA

Åij fn, x, dFkuksa esa ls dkSu lk@ls dFku
lgh gS@gSa\

a) dsoy 1 vkSj 2 b) dsoy 3

c) dsoy 2 vkSj 3 d) 1] 2 vkSj 3

6 -6 -6 -6 -6 - fuEufyf[kr dFkuksa ij fopkj djsa%

1- l alnh; yk sdr a= e s a dk; Zikfydk
fo/kkf;dk ds fy, ftEesnkj gSA

2- v/;{kkRed yksdra= esa dk;Zikfydk
fo/kkf;dk ds fy, ftEesnkj ugha gSA

3- la?kh; yksdra= esa ?kVd bdkb;ksa ds ikl
,d leku 'kfä gksrh gSA

Åij fn, x, dFkuksa esa ls dkSu lk@ls dFku
lgh gS@gSa\

a) dsoy 1 vkSj 2

b) dsoy 3

c) dsoy 1 vkSj 3

d) 1] 2] vkSj 3
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1. Consider the following statements
about the Sun Temple at Modhera:

1. It was built during the reign of
Raja Bhimdev I of the Solanki
dynasty.

2. This temple is built from
sandstone only.

3. It is situated on the banks of river
Pushpavati.

Which of the statements given above is/
are correct?

a) 1 and 2 only b) 2 and 3 only

c) 1 and 3 only d) 1, 2 and 3

2. Consider the following statements
about Ashoka’s Inscription:

1. They were written in Prakrit and
Pali languages and used Brahmi
script.

2. His inscriptions were found in
provincial capitals only.

3. Ashoka followed Chandragupta
Maurya’s method of talking
directly to people through
inscription.

Which of the statements given above is/
are correct?

a) 1 and 2 only

b) 2 and 3 only

c) 1, 2 and 3

d) None of the above

3. The fourteenth - century text,
‘Lilatilakam’ deals with:

a) Love story

b) Mathematical calculation

c) Bhakti literature

d) Grammar and Poetics

4. The cire-perdu process is associated
with:

a) Woodcutting

b) Sword making

c) Sculpture making

d) Rock architecture

5. Consider the following statements
about the Mughal Empire:

1. The Mughals were descendants of
Genghis Khan from the paternal
side.

2. The Mughals followed the custom
of coparcenary inheritance.

3. The Mughals did not like to be
called Mughal.

Which of the statements given above is/
are correct?

a) 1 and 2 only b) 3 only

c) 2 and 3 only d) 1, 2 and 3

6. Consider the following statements:

1. In a parliamentary democracy, the
executive is responsible to the
legislature.

2. In a presidential democracy, the
executive is not responsible to the
legislature.

3. In a federal democracy, the
constituent units enjoy an equal
amount of power.

Which among the statements given
above is/are correct?

a) 1 and 2 only b) 3 only

c) 1 and 3 only d) 1, 2, and 3
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7 -7 -7 -7 -7 - fuEufyf[kr esa ls dkSu lk Hkkjrh; lafo/kku
ds vuqlkj ̂ ^lekurk^^ dh vo/kkj.kk ds varxZr
ugha vkrk gS\

a) foHksnd mipkj dh vuqifLFkfr

b) ldkjkRed dkjZokbZ uhfr;ka

c) vf/kdkfj;ksa dh foosdk/khu 'kfä

d) U;k; forj.k ds fy, oSdfYid eap

8 -8 -8 -8 -8 - Hkkjr esa LFkkuh; ljdkj ds mís';ksa ds ckjs esa
fuEufyf[kr esa ls dkSu lk@ls xyr gS@gSa\

1- yksdrkaf=d dsaæhdj.k

2- LFkkuh; fuf/k;ksa dk tqVko

3- yksdfç; Hkkxhnkjh

uhps fn, x, dwV dk mi;ksx djds lgh mÙkj
dk p;u djsa%

a) dsoy 1 b) dsoy 1 vkSj 2

c) dsoy 2 d) dsoy 2 vkSj 3

9 -9 -9 -9 -9 - lafo/kku dk vfuok;Z dk;Z D;k gS\

a) ljdkj ds fy, mldh lajpuk vkSj dk;Z
eqgS;k djkuk

b) ;g lqfuf'pr djuk fd ljdkj dh 'kfä
dk mi;ksx yksxksa ds dY;k.k ds fy,
fd;k tkrk gSA

c) yksxksa ds fy, ljdkj LFkkfir djuk
vkSj yksxksa dks ljdkj ls cpkukA

d) mijksä esa ls dksbZ ughaA

10-10-10-10-10- Hkkjrh; lanHkZ esa fuEufyf[kr esa ls dkSu lk
jkT;iky ds in dk lcls mi;qä fooj.k gS\

a) ç/kku ea=h dh fu;qfä

b) dsaæ ljdkj dk ,tsaV

c) jkT; Lrj ij laoS/kkfud çeq[k

d) dsaæ ljdkj dk deZpkjh

11-11-11-11-11- vkXus; pêkuksa ds fy, fuEufyf[kr esa ls dkSu
lk@ls dFku lgh gS@gSa\

1- os thok'eksa ls oafpr gSaA

2- os i`Foh ds lrg ds uhps vkSj lrg ij
cu ldrs gSaA

3- laxejej vkSj DokVZtkbV vkXus; pêkusa
gSaA

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj dk
p;u djsa%

a) dsoy 2 b) dsoy 1 vkSj 2

c) dsoy 2 vkSj 3 d) 1] 2 vkSj 3

1212121212- cgrs ty }kjk fufe Zr fuEufyf[kr Hkw &
vk—fr;ksa ij fopkj djsa%

1- V&vkdkj dh ?kkfV;k¡] x‚tZ vkSj dSfu;u
cgrs ikuh }kjk fufeZr Hkw&vk—fr;k¡ gSaA

2- çk—frd rVca/k vkSj folihZ jksf/kdk MsYVk
{ks= ls tqM+s fu{ksi.k Hkw&vk—fr;k¡ gSaA

Åij fn, x, dFkuksa esa ls dkSu lk@ls xyr
gS@gSa\

a) dsoy 1 b) dsoy 2

c) nksuksa d) dksbZ ugha

13-13-13-13-13- vfHkdFku ¼v½%vfHkdFku ¼v½%vfHkdFku ¼v½%vfHkdFku ¼v½%vfHkdFku ¼v½% dkcZu Mkbv‚DlkbM xzhugkml
çHkko ds fy, dkQh gn rd ftEesnkj gSA

dkj.k ¼d½%dkj.k ¼d½%dkj.k ¼d½%dkj.k ¼d½%dkj.k ¼d½% dkcZu Mkbv‚DlkbM ekSle foKku
dh –f"V ls vkus okys lkSj fofdj.k ds fy,
ikjn'khZ gS ysfdu ckgj tkus okys LFkyh;
fofdj.k ds fy, vikjn'khZ gSA

mijksä nksuksa dFkuksa ds lanHkZ esa fuEufyf[kr
esa ls dkSu lk fodYi lgh gS\

a) v vkSj d nksuksa lgh gSa vkSj d] v dh
lgh O;k[;k gSA

b) v vkSj d nksuksa lgh gSa] ysfdu d] v
dh lgh O;k[;k ugha djrk gSA

c) v lgh gS] ysfdu d xyr gSA

d) v xyr gS] ysfdu d lgh gSA
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7. Which of the following does not fall
under the concept of “equality” as per
the Indian Constitution?
a) Absence of differential treatment
b) Affirmative action policies
c) Discretionary power of

authorities
d) Alternative forums for justice

delivery
8. Which of the following is/are incorrect

about the objectives of Local
Government in India?
1. Democratic centralisation
2. Mobilization of local funds
3. Popular participation
Select the correct answer by using the
code given below:
a) 1 only b) 1 and 2 only
c) 2 only d) 2 and 3 only

9. What is the essential function of a
Constitution?
a) To provide for a government, its

structure and functions
b) To ensure that the power of the

government is used for the
welfare of the people

c) To establish a government for the
people and to protect people from
government.

d) None of the above.
10. Which of the following is the most

appropriate description of the Office of
Governor in the Indian context?
a) An appointee of the Prime

Minister
b) An agent of the central

government
c) A Constitutional head at the state

level
d) An employee of the Union

government.

11. Which of the following statements is/
are correct for igneous rocks?
1. They are devoid of fossils.
2. They can be formed beneath the

surface and on the surface of the
Earth.

3. Marble and Quartzite are igneous
rocks.

Choose the correct answer using the
code given below.
a) 2 only b) 1 and 2 only
c) 2 and 3 only d) 1, 2 and 3

12. Consider the following landforms
created by the running water:
1. V-shaped valleys, gorges and

canyons are erosional landforms
created by running water.

2. Natural levees and point bars are
the depositional landforms
associated with the delta region.

Which of the statements given above is/
are incorrect?
a) 1 only b) 2 only 
c) Both 1 and 2 d) Neither 1 nor 2 

13. Assertion: Carbon dioxide is largely
responsible for the greenhouse effect.
Reason: Carbon dioxide is
meteorologically transparent to the
incoming solar radiation but opaque to
the outgoing terrestrial radiation.
In the context of the above two
statements, which one of the following
options is correct?
a) Both A and R are true, and R is the

correct explanation of A.
b) Both A and R are true, but R is not

the correct explanation of A.
c) A is true, but R is False.
d) A is false, but R is True.
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14-14-14-14-14- i`Foh ds ok;qeaMy dh fuEufyf[kr ijrksa dks
ÅapkbZ ds c<+rs Øe esa O;ofLFkr djsa%

1- rkie.My 2- {kksHkeaMy

3- e/;eaMy 4- lerki eaMy

uhps fn, x, dwV ls lgh Øe dk p;u djsa%

a) 2&3&4&1 b) 2&4&3&1

c) 1&3&4&2 d) 1&4&3&2

15-15-15-15-15- lw;kZri esa ifjorZu dk fuEufyf[kr esa ls dkSu
lk@ls lgh dkj.k gS@gSa\

1- lw;Z dh fdj.kksa ds >qdko dk dks.k

2- fnu dh yackbZ

3- i`Foh dk viuh /kqjh ij ?kw.kZu

4- okrkoj.k dh ikjnf'kZrk

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj dk
p;u djsa%

a) dsoy 1 b) dsoy 2 vkSj 3

c) dsoy 3 vkSj 4 d) 1] 2] 3 vkSj 4

16-16-16-16-16- xzgksa dh gokvksa dh xfr ds laca/k esa fuEufyf[kr
dFkuksa ij fopkj djsa%

1- ;g ok;qeaMyh; rki ds v{kka'kh; ifjorZu
ij fuHkZj djrk gSA

2- ;g i`Foh ds ?kw.kZu ij fuHkZj ugha djrk
gSA

3- ;g ncko isfV;ksa ds çokl ls çHkkfor
gksrk gSA

4- ;g egk}hiksa vkSj egklkxjksa ds forj.k
ij fuHkZj ugha djrk gSA

mijksä esa ls dkSu ls dFku xyr gSa\

a) dsoy 1 vkSj 2 b) dsoy 2 vkSj 3

c) dsoy 2 vkSj 4 d) dsoy 3 vkSj 4

17-17-17-17-17- Hkkjr esa çokl ds lanHkZ esa fuEufyf[kr dFkuksa
ij fopkj djsa%

1- varjkZT;h; çokl esa iq#"k vkcknh dh
rqyuk esa efgyk çokfl;ksa dk opZLo gSA

2- xzkeh.k ls 'kgjh varj&jkT;h; çokl esa
iq#"k çokfl;ksa dk opZLo gSA

Åij fn, x, dFkuksa esa ls dkSu lk@ls xyr
gS@gSa\

a) dsoy 1 b) dsoy 2

c) nksuksa d) dksbZ ugha

18-18-18-18-18- gky ds o"kksaZ esa Hkkjr esa 'kgjhdj.k ds lanHkZ
esa] fuEufyf[kr dFkuksa ij fopkj djsa%

1- fiNys dqN n'kdksa esa 'kgjh vkcknh esa
yxkrkj o`f) gqbZ gSA

2- fiNys nks n'kdksa ds nkSjku 'kgjhdj.k
dh o`f) nj /kheh gqbZ gSA

Åij fn, x, dFkuksa esa ls dkSu lk@ls lgh
gS@gSa\

a) dsoy 1 b) dsoy 2

c) nksuksa d) dksbZ ugha

19-19-19-19-19- lalk/ku ds :i esa ikuh ds laca/k esa fuEufyf[kr
dFkuksa ij fopkj djsa%

1- ty ,d pØh; lalk/ku gS ftldh fo'o
esa çpqj vkiwfrZ gSA

2- ekuo mi;ksx ds fy, rkts ikuh dh
fujarj vYi ek=k ges'kk miyC/k jgrh
gSA

Åij fn, x, dFkuksa esa ls dkSu lk@ls lgh
gS@gSa\

a) dsoy 1 b) dsoy 2

c) nksuksa d) dksbZ ugha
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14. Arrange the following layers of Earth’s
atmosphere in increasing order of
altitude:
1. Thermosphere
2. Troposphere
3. Mesosphere
4. Stratosphere
Choose the correct order from the code
given below.
a) 2-3-4-1 b) 2-4-3-1
c) 1-3-4-2 d) 1-4-3-2

15. Which of the following is/are the
correct reason/s for the variations in
insolation?
1. The angle of the inclination of the

Sun’s rays.
2. Length of the day.
3. Rotation of the Earth on its axis.
4. Transparency of the atmosphere.
Select the correct answer using the
codes given below.
a) 1 only b) 2 and 3 only
c) 3 and 4 only d) 1, 2, 3 and 4

16. Consider the following statements
regarding the movement of planetary
winds:
1. It depends on the latitudinal

variation of atmospheric heating.
2. It does not depend on the rotation

of the Earth.
3. It is influenced by the migration of

pressure belts.
4. It does not depend on the

distribution of continents and
oceans.

Which of the above statements are
incorrect?
a) 1 and 2 only b) 2 and 3 only
c) 2 and 4 only d) 3 and 4 only

17. With reference to migration in India,
consider the following statements:

1. The intra-state migration is
dominated by female migrants as
compared to the male population.

2. The rural to urban inter-state
migration is dominated by male
migrants.

Which of the statements given above is/
are incorrect?

a) 1 only b) 2 only

c) Both 1 and 2 d) Neither 1 nor 2 

18. With reference to the urbanization in
India in recent years, consider the
following statements: 

1. There has been a consistent
growth in the urban population in
the last few decades.

2. The growth rate of urbanization
has slowed down during the last
two decades.

Which of the statements given above is/
are correct?

a) 1 only b) 2 only

c) Both 1 and 2 d) Neither 1 nor 2 

19. Consider the following statements
regarding water as a resource:

1. Water is a cyclic resource with
abundant supplies on the globe.

2. A constant small amount of
freshwater is always available for
human use.

Which of the statements given above is/
are correct?

a) 1 only b) 2 only

c) Both 1 and 2 d) Neither 1 nor 2
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20-20-20-20-20- fuEufyf[kr esa ls dkSu lh rduhd fpjdkjh
'kjhj fØ;k esa çkjafHkd funku rduhd ugha
gS\

a) i‚fyejst psu Jà[kyk

b) lhje vkSj ew= fo'ys"k.k

c) iqu;ksZxt DNA rduhd

d) ,atkbe lâyXu çfrj{kk 'kks"kd

21-21-21-21-21- fuEufyf[kr dFkuksa ij fopkj djsa%

1- çkFkfed {ks= dh xfrfof/k;k¡ dsoy cktkj
dh xfrfof/k;ksa ls lacaf/kr gSaA

2- ek/;fed {ks= dh xfrfof/k;k¡ çkFkfed
{ks= ds dq'ky mi;ksx ls lacaf/kr gSaA

3- r`rh;d {ks= dk foLrkj eq[; :i ls
ekuo lalk/ku ds dq'ky mi;ksx ij
vk/kkfjr gSA

Åij fn, x, dFkuksa esa ls dkSu ls lgh gSa\

a) dsoy 1 vkSj 2 b) dsoy 1 vkSj 3

c) dsoy 2 vkSj 3 d) 1] 2 vkSj 3

2222222222- fuEufyf[kr dFkuksa ij fopkj djsa%

1- çPNUu csjkstxkjh ds ekeys esa] ,d ifjokj
dh dekbZ mruh çHkkfor ugha gksrh ftruh
csjkstxkjh ds ekeys esa gksrh gSA

2- eksVs rkSj ij] çkFkfed vkSj r`rh;d {ks=ksa
ls lacaf/kr Je'kfä çPNUu csjkstxkjh
dk f'kdkj gSA

Åij fn, x, dFkuksa esa ls dkSu lk@ls lgh
gS@gSa\

a) dsoy 1 b) dsoy 2

c) nksuksa d) dksbZ ugha

23-23-23-23-23- Hkkjr esa xjhch ds ckjs esa fuEufyf[kr dFkuksa
ij fopkj djsa%
1- 1991 ds ckn çfr'kr ds fygkt ls ;g

yxkrkj ?kV jgk gS] tcfd yksxksa dh la[;k
ds fygkt ls ;g yxkrkj c<+ jgk gSA

2- lkekftd cfg"dkj xjhch dk ifj.kke gSA
3- pwafd 'kgjh O;fä dks vf/kd dSyksjh dh

vko';drk gksrh gS] 'kgjh xjhcksa ds fy,
xjhch js[kk xzkeh.k O;fä dh rqyuk esa
vf/kd gksrh gSA

Åij fn, x, dFkuksa esa ls dkSu lk@ls xyr
gS@gSa\
a) dsoy 1 b) dsoy 1 vkSj 2
c) dsoy 2 vkSj 3 d) 1] 2 vkSj 3

24-24-24-24-24- fodkl ds laca/k esa la;qä jk"Vª fodkl dk;ZØe
dh ekuo fodkl fjiksVZ ¼HDR½ fo'o cSad dh
fo'o cSad fjiksVZ ls dkQh csgrj gS] D;ksafd%
1- blesa fodkl ds dbZ igyqvksa dks 'kkfey

fd;k x;k gSA
2- /ku dekuk fodkl dks ekius dk ,dek=

ekinaM ugha gks ldrkA
Åij fn, x, dFkuksa esa ls dkSu lk@ls xyr
gS@gSa\
a) dsoy 1 b) dsoy 2
c) nksuksa d) dksbZ ugha

25-25-25-25-25- 19oha 'krkCnh ds iwokZ/kZ esa vaxzstksa us Hkkjr ds
fons'kh O;kikj ij vR;f/kd fu;a=.k fd;k]
D;ksafd%
1- mUgsa vius m|ksxksa ds fy, dPps eky dh

vko';drk FkhA
2- Hkkjr muds mRiknu ds fy, ,d cM+k

cktkj FkkA
3- Lost ugj ds [kqyus ls Hkkjr ds fons'kh

O;kikj ij mudk fu;a=.k esa rhozrk vk xbZA
Åij fn, x, dFkuksa esa ls dkSu ls lgh gSa\
a) dsoy 1 vkSj 2 b) dsoy 1 vkSj 3
c) dsoy 2 vkSj 3 d) 1] 2 vkSj 3
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20. Which of the following techniques is not
an early diagnosis technique in
pathophysiology?

a) Polymerase Chain Reaction.

b) Serum and Urine analysis.

c) Recombinant DNA technology.

d) Enzyme-Linked Immuno-sorbent
Assay.

21. Consider the following statements:

1. Primary sector activities are only
related to the market activities.

2. Secondary sector activities are
related to the efficient use of the
primary sector.

3. The expansion of the tertiary
sector is mainly based on the
efficient use of the human
resource.

Which of the statements given above are
correct?

a) 1 and 2 only b) 1 and 3 only

c) 2 and 3 only d) 1, 2 and 3

22. Consider the following statements:

1. In the case of disguised
unemployment, the earning of
family is not impacted as much as
in the case of unemployment.

2. Largely, manpower related to the
primary and tertiary sector is the
victim of disguised
unemployment.

Which of the statements given above is/
are correct?

a) 1 only b) 2 only

c) Both 1 and 2 d) Neither 1 nor 2

23. Consider the following statements
about the poverty in India:
1. After 1991, in terms of

percentage, it decreases, whereas,
in terms of the number of people,
it increases.

2. Social exclusion is a result of
poverty.

3. As urban individuals need more
calories, the poverty line for the
urban poor is higher than for rural
individuals.

Which of the statements given above is/
are incorrect?
a) 1 only b) 1 and 2 only
c) 2 and 3 only d) 1, 2 and 3

24. In regarding development, the Human
development report of UNDP is much
better than the World Bank report;
Because
1. It covers multiple aspects of

development.
2. Earning money can’t be the sole

criteria for measuring
development.

Which of the statements given above is/
are incorrect?
a) 1 only b) 2 only
c) Both 1 and 2 d) Neither 1 nor 2

25. Britishers immensely controlled India’s
foreign trade in the first half of the 19th

century because:
1. They needed raw materials for

their industries.
2. India was a large market for their

production.
3. The opening of the Suez Canal

intensified their control over
India’s foreign trade.

Which of the statements given above are
correct?
a) 1 and 2 only b) 1and 3 only
c) 2 and 3 only d) 1, 2 and 3
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26-26-26-26-26- çksdSfj;ksfVd vkSj ;wdsfj;ksfVd dksf'kdkvksa ds
lanHkZ esa fuEufyf[kr dFkuksa ij fopkj djsa%
1- çksdSfj;ksfVd dksf'kdkvksa esa vPNh rjg

ls ifjHkkf"kr ukfHkd vkSj f>Yyh ls ca/ks
gq, vax gksrs gSaA

2- çksdSfj;ksfVd dksf'kdkvksa esa ekbVksd‚fUMª;k
vuqifLFkr gksrk gS] tcfd ;wdsfj;ksfVd
dksf'kdkvksa esa ;g ekStwn gksrk gSA

3- ;wdSfj;k sfVd dksf'kdkvk s a es a dk sb Z
lqifjHkkf"kr dsUæd ugha gksrk gS vkSj
dksf'kdkax vuqifLFkr gksrs gSaA

Åij fn, x, dFkuksa esa ls dkSu lk@ls xyr
gS@gSa\
a) dsoy 1 b) dsoy 2
c) dsoy 1 vkSj 3 d) dsoy 2 vkSj 3

27-27-27-27-27- nwj–f"Vnks"k ds lanHkZ esa fuEufyf[kr dFkuksa ij
fopkj djsa%
1- nwj–f"Vnks"k okyk O;fä ikl dh oLrqvksa

dks Li"V :i ls ns[k ldrk gS ysfdu
nwj dh oLrqvksa dks Li"V :i ls ugha ns[k
ldrk gSA

2- mi;qä {kerk ds mÙky ysal dk mi;ksx
djds bls Bhd fd;k tk ldrk gSA

Åij fn, x, dFkuksa esa ls dkSu lk@ls lgh
gS@gSa\
a) dsoy 1 b) dsoy 2
c) nksuksa d) dksbZ ugha

2828282828- DykbuQsYVj flaMªkse ds ckjs esa fuEufyf[kr esa
ls dkSu lk@ls dFku lgh gS@gSa\
1- ;g ,d lkekU; vkuqoaf'kd fLFkfr gS

tks dsoy efgykvksa esa ikbZ tkrh gSA
2- ;g ,d flaMªkse gS tks vkerkSj ij ifjokj

ds lnL;ksa ls fojklr esa feyrk gSA
uhps fn, x, dwV ls lgh mÙkj dk p;u djsa%
a) dsoy 1 b) dsoy 2
c) nksuksa d) dksbZ ugha

2929292929- ;fn cQZ ij ncko lkekU; ncko ls vf/kd
c<+k fn;k tkrk gS] rks gksxk%

a) 'kwU; fMxzh lsfYl;l ls vf/kd rkieku
ij fi?kykuk

b) 'kwU; fMxzh lsfYl;l ls de rkieku ij
fi?kykuk

c) fcYdqy ugha fi?kyrk

d) ;fn ty ds i`"B ruko ls nkc vf/kd
gks rks xyukad de gks tk,xkA

30-30-30-30-30- lw;Z nksigj ds le; lQsn vkSj lw;ksZn; ;k
lw;kZLr ds le; yky fn[kkbZ nsrk gSA
fuEufyf[kr esa ls dkSu lk@ls bldk dkj.k
gS@gSa\

1- nksigj ds le; uhys vkSj cSaxuh jax ds
çdk'k dk vf/kd çdh.kZuA

2- f{kfrt ds fudV lw;ksZn;@lw;kZLr ds
le; çdk'k dh yach rjaxnS?kZ~; dk de
çdh.kZuA

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj dk
p;u djsa%

a) dsoy 1 b) dsoy 2

c) nksuksa d) dksbZ ugha

31-31-31-31-31- ft;ksykbV ds ckjs esa fuEufyf[kr dFkuksa ij
fopkj djsa%

1- o s ,Y;qfefu;e vk Sj flfydk ds
f=&vk;keh ;kSfxd gSaA

2- ;s çk—frd :i ls xeZ ykok ds ikuh esa
feyus ls curs gSaA

3- os O;kolkf;d :i ls v‚Dlhtu lkaærk
esa vo'kks"kd ds :i esa mi;ksx fd, tkrs
gSaA

Åij fn, x, dFkuksa esa ls dkSu lk@ls lgh
gS@gSa\

a) dsoy 1 b) dsoy 1 vkSj 2

c) dsoy 2 vkSj 3 d) 1] 2 vkSj 3
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26. Consider the following statements with
reference to Prokaryotic and
eukaryotic cells:
1. In Prokaryotic cells, there is a well-

defined nucleus and membrane-
bound organelles.

2. In Prokaryotic cells, mitochondria
is absent, while in Eukaryotic cells,
it is present.

3. In Eukaryotic cells, there is no
well-defined nucleus, and
organelles are absent.

Which of the statements given above is/
are incorrect?
a) 1 only b) 2 only
c) 1 and 3 only d) 2 and 3 only

27. With reference to Hypermetropia,
consider the following statements:
1. A person with Hypermetropia can

see nearby objects clearly but
cannot see distant objects
distinctly.

2. It can be corrected by using a
convex lens of appropriate power.

 Which of the statements given above is/
are correct?
a) 1 only b) 2 only
c) Both 1 and 2 d) Neither 1 nor 2

28. Which of the following statements is/
are correct about Klinefelter
Syndrome?
1. It is a common genetic condition

found only in females.
2. It is a syndrome that is usually

inherited from family members.
Select the correct answer from the code
given below:
a) 1 only b) 2 only
c) Both 1 and 2 d) Neither 1 nor 2

29. If the pressure on ice is increased more
than the normal pressure, it will:

a) Melt at a higher temperature than
zero degree Celsius.

b) Melt at a temperature lower than
zero degree Celsius.

c) Not melt at all.

d) Melting point will decrease if the
pressure is greater than the
surface tension of water.

30. Sun appears white at noon and reddish
at the time of sunrise or sunset. Which
of the following is/are the reason/s for
it?

1. More scattering of blue and violet
colours of light at noon.

2. Less scattering of longer
wavelengths of light at sunrise/
sunset near the horizon.

Select the correct answer using the code
given below.

a) 1 only b) 2 only

c) Both 1 and 2 d) Neither 1 nor 2

31. Consider the following statements
about Zeolites:

1. They are three-dimensional
compounds of Aluminium and
Silica.

2. They are naturally formed when
hot lava mixes with water.

3. They are commercially used as
absorbents in oxygen
concentrators.

Which of the statements given above is/
are correct?

a) 1 only b) 1 and 2 only

c) 2 and 3 only d) 1, 2 and 3
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32-32-32-32-32- ^;s inkFkZ vfHkdkjdksa ds lkFk vfHkfØ;k ugha
djrs gSa] ysfdu feykus ij dqN jklk;fud
vfHkfØ;kvksa dh nj c<+k nsrs gSaA ekuo 'kjhj
esa ,atkbe ,sls inkFkksaZ ds mnkgj.k gSaA^

mijksä vorj.k esa fuEufyf[kr esa ls fdl
lewg ds inkFkksaZ dk o.kZu fd;k x;k gS\

a) çksVhu b) gkeksZu

c) vfHkdeZd d) mRçsjd

33-33-33-33-33- dHkh&dHkh Øk;kstsfud Åijh pj.k ¼CUS½
dks Hkkjrh; varfj{k dk;ZØe ls lacaf/kr ppkZ
esa ns[kk tkrk gSA blds ckjs esa fuEufyf[kr
dFkuksa ij fopkj djsa%

1- ;g bljks }kjk fodflr /kzqoh; mixzg
ç{ksi.k ;ku ¼PSLV½ ls tqM+k gSA

2- bl voLFkk esa ngu ds fy, Bksl bZa/ku
dk mi;ksx fd;k tkrk gSA

Åij fn, x, dFkuksa esa ls dkSu lk@ls lgh
gS@gSa\

a) dsoy 1 b) dsoy 2

c) nksuksa d) dksbZ ugha

34-34-34-34-34- fuEufyf[kr ;qXeksa esa ls dkSu lk@ls lgh
rjhds ls lqesfyr gS@gSa\

1- cksLQksjsl tyMe:e/; & ,ft;u lkxj
vkSj ejejk lkxj

2- Mkfuyht tyMe:e/; & ,ft;u lkxj
vkSj dkyk lkxj

3- dspZ tyMe:e/; & dkyk lkxj vkSj
vtkso lkxj

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj dk
p;u djsa%

a) dsoy 1 vkSj 2 b) dsoy 2 vkSj 3

c) dsoy 3 d) 1] 2 vkSj 3

3535353535- ç/kkuea=h xjhc dY;k.k vUu ;kstuk ds ckjs
esa fuEufyf[kr dFkuksa ij fopkj djsa%

1- ;g dksfoM&19 egkekjh ds nkSjku lekt
ds detksj oxksaZ ds fy, [kk| lqj{kk
lqfuf'pr djuk pkgrk gSA

2- ;g ik= ykHkkfFkZ;ksa dks çfr O;fä çfr
ekg 5 fdyksxzke eq¶r vukt çnku djrk
gSA

3- bl ;kstuk ds varxZr lHkh jk"Vªh; [kk|
lqj{kk vf/kfu;e ¼NFSA½ ds ykHkkFkhZ
'kkfey gSaA

4- çnku fd, x, [kk|kUu esa jk"Vªh; [kk|
lqj{kk vf/kfu;e ds rgr ik=rk,a 'kkfey
gSaA

Åij fn, x, dFkuksa esa ls dkSu ls lgh gSa\

a) dsoy 1 vkSj 2

b) dsoy 1] 2 vkSj 3

c) dsoy 2] 3 vkSj 4

d) lHkh

36-36-36-36-36- vkSifuosf'kd dky ds nkSjku dikl feyksa ds
ckjs esa fuEufyf[kr dFkuksa ij fopkj djsa%

1- Hkkjr esa igyh dikl fey 1854 esa c‚Ecs
esa LFkkfir dh xbZ FkhA

2- Hkkjr esa dikl ds dkj[kkus ds mRiknu
dks fodflr djus esa igyk cM+k mNky
çFke fo'o ;q) ds nkSjku FkkA

Åij fn, x, dFkuksa esa ls dkSu lk@ls lgh
gS@gSa\

a) dsoy 1 b) dsoy 2

c) nksuksa d) dksbZ ugha
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32. ‘These substances do not react with the
reactants, but they increase the rate of
certain chemical reactions when added.
Enzymes in human body are examples
of such substances.’

Which of the following group of
substances is described in the above
paragraph?

a) Proteins b) Hormones

c) Reagents d) Catalysts

33. Cryogenic Upper Stage (CUS) is
sometimes seen in news related to the
Indian Space Programme. Consider the
following statements regarding it:

1. It is associated with Polar Satellite
Launch Vehicle (PSLV) developed
by ISRO.

2. Solid fuel is used for combustion
in this stage.

Which of the statements given above is/
are correct?

a) 1 only b) 2 only

c) Both 1 and 2 d) Neither 1 nor 2

34. Which of the following pairs is/are
correctly matched?

1. Bosporus Strait - The Aegean
Sea and the Sea of Marmara

2. Dardanelles Strait - The Aegean
Sea and the Black Sea

3. Kerch Strait - The Black Sea and the
Sea of Azov

Select the correct answer using the code
given below:

a) 1 and 2 only b) 2 and 3 only

c) 3 only d) 1, 2 and 3

35. Consider the following statements
about Pradhan Mantri Garib Kalyan
Anna Yojana:

1. It seeks to ensure food security for
vulnerable sections of society
during Covid-19 pandemic.

2. It provides free-of-cost 5 Kg per
person per month food grains to
eligible beneficiaries.

3. All National Food Security Act
(NFSA) beneficiaries are covered
under this scheme.

4. The food grains provided are
inclusive of entitlements under
NFSA.

Which of the statements given above are
correct?

a) 1 and 2 only b) 1, 2 and 3 only

c) 2, 3 and 4 only d) All of them

36. Consider the following statements
about the Cotton Mills during the
Colonial period:

1. The first cotton mill in India was
set up in Bombay in 1854.

2. The first major spurt in
developing cotton factory
production in India was during the
First World War.

Which of the statements given above is/
are correct?

a) 1 only b) 2 only

c) Both 1 and 2 d) Neither 1 nor 2
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37-37-37-37-37- f[kykQr vkanksyu ds ckjs esa fuEufyf[kr esa
ls dkSu lk dFku lgh ugha gS\

1- vkanksyu ds usrkvksa us tthjr&my&vjc
dh laçHkqrk dks LFkkukarfjr djus ij
lgefr O;ä dh] c'krsZ [kyhQk dks
rRdkyhu v‚Vkseu lkezkT; esa eqfLye
ifo= LFkkuksa ij fu;a=.k cuk, j[kuk
pkfg,A

2- dkaxzsl vkanksyu esa 'kkfey gksus ds fy,
vfuPNqd FkhA

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj dk
p;u djsa%

a) dsoy 1 b) dsoy 2

c) nksuksa d) dksbZ ugha

38-38-38-38-38- dkaxzsl ds igys chl o"kksaZ ds nkSjku mlds ckjs
esa fuEufyf[kr dFkuksa ij fopkj djsa%

1- bl vof/k ds nkSjku ;g vius mís';ksa
vkSj rjhdksa esa uje FkkA

2- bl vof/k ds nkSjku] blus dbZ jktuhfrd]
lkekftd vkSj vkfFkZd eqíksa dks mBk;kA

3- bl dky esa dkaxzsl us is'ksoj lewgksa]
tehankjksa ;k m|ksxifr;ksa dh vksj ls gh
ckr dhA

Åij fn, x, dFkuksa esa ls dkSu lk@ls lgh
gS@gSa\

a) dsoy 1 b) dsoy 2 vkSj 3

c) dsoy 1 vkSj 2 d) 1] 2 vkSj 3

3939393939- fuEufyf[kr ;qXeksa esa ls dkSu lk@ls lgh
rjhds ls lqesfyr gS@gSa\

Hkkjrh; jkT;Hkkjrh; jkT;Hkkjrh; jkT;Hkkjrh; jkT;Hkkjrh; jkT; çns'kksa dsçns'kksa dsçns'kksa dsçns'kksa dsçns'kksa ds
vuqyXud dh fof/kvuqyXud dh fof/kvuqyXud dh fof/kvuqyXud dh fof/kvuqyXud dh fof/k

1- vo/k dwVuhfrd i)fr

2- gSnjkckn vkfFkZd i)fr

3- eSlwj çR;{k lSU; geyk

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj dk
p;u djsa%

a) dsoy 1 b) dsoy 2 vkSj 3

c) dsoy 1 vkSj 3 d) 1] 2 vkSj 3

40-40-40-40-40- jkuh psUuEek ds ckjs esa fuEufyf[kr dFkuksa ij
fopkj djsa%

1- 1857 ds foæksg esa bZLV bafM;k daiuh ds
f[kykQ yM+us okyh ,d egRoiw.kZ O;fä
FkhaA

2- vaxzstksa us ^loksZPprk^ dh uhfr ds rgr
mlds jkT; ij dCtk djus dh dksf'k'k
dhA

Åij fn, x, dFkuksa esa ls dkSu lk@ls lgh
gS@gSa\

a) dsoy 1 b) dsoy 2

c) nksuks d) dksbZ ugha

41-41-41-41-41- Hkkjrh; lanHkZ esa ,d /keZfujis{k jkT; ds lcls
mi;qä fooj.k dh igpku djsa%

a) tks fdlh /keZ dks c<+kok ugha nsrk gSA

b) tks lHkh /keksaZ ls leku nwjh cuk, j[krk
gSA

c) ftldk dksbZ vkf/kdkfjd /keZ ugha gSA

d) tks lHkh /keksaZ dks leku :i ls c<+kok
nsrk gSA
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37. Which of the following statements
about the Khilafat Movement is not
correct?

1. The movement leaders agreed to
transfer the sovereignty of the
jazirat-ul-Arab, provided the
Khalifa must retain control over
the Muslim sacred places in the
erstwhile Ottoman Empire.

2. Congress was reluctant to join the
movement.

Select the correct answer using the code
given below:

a) 1 only b) 2 only

c) Both 1 and 2 d) Neither 1 nor 2

38. Consider the following statements
about the Congress during its first
twenty years:

1. During this period, it was
moderate in its objectives and
methods.

2. During this period, it raised a
number of political, social, and
economic issues.

3. The Congress during this period
talked on behalf of professional
groups, zamindars, or
industrialists only.

Which of the statements given above is/
are correct?

a) 1 only b) 2 and 3 only

c) 1 and 2 only d) 1, 2 and 3

39. Which of the following pairs is/are
correctly matched?

Indian States Methods of
Annexation of
Territories

1. Awadh Diplomatic method

2. Hyderabad Economic method

3. Mysore Direct Military
attack

Select the correct answer using the code
given below:

a) 1 only b) 2 and 3 only

c) 1 and 3 only d) 1, 2 and 3

40. Consider the following statements
about Ranni Channamma:

1. She was an important figure to
fight against the East India
Company in the Revolt of 1857.

2. The British tried to annex her state
under the policy of ’
Paramountancy’.

Which of the statements given above is/
are correct?

a) 1 only b) 2 only

c) Both 1 and 2 d) Neither 1 nor 2

41. Identify the most appropriate
description of a secular state in the
Indian context:

a) That does not promote any
religion.

b) That maintains equal distance
from all religions.

c) That does not have an official
religion.

d) That promotes all religions
equally.
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42-42-42-42-42- lafo/kku dh çHkko'khyrk lqfuf'pr djus ds
fy, fuEufyf[kr esa ls dkSu lh vko';d 'krsaZ
gSa\

1- ;g ,d fyf[kr nLrkost gksuk pkfg,A

2- bls ,d etcwr dsaæ ljdkj çnku djuh
pkfg,A

3- bls laln dh laçHkqrk çnku djuh pkfg,A

uhps fn, x, dwVksa esa ls lgh mÙkj dk p;u
djsa%

a) dsoy 1 vkSj 2

b) dsoy 2

c) dsoy 3

d) mijksä esa ls dksbZ ugha

43-43-43-43-43- jkT; O;oLFkk ds lanHkZ esa jkT; dh /kkj.kk ds
ckjs esa fuEufyf[kr esa ls dkSu lk lgh gS\

a) ,d laxfBr jktuhfrd leqnk; ftldh
ljdkj ,d ifjHkkf"kr {ks= ij vf/kdkj
j[krh gSA

b) dsoy vkarfjd laçHkqrk j[kus okys yksxksa
dk ,d lewg tks Lo'kklu ds fy, fu;e
cukrk gS

c) fdlh {ks= dks fu;af=r djus okys lkekU;
lkaL—frd fo'ks"krkvksa dks lk>k djus
okys yksxksa dk ,d la?kA

d) jkT; inkoyh ckjs esa dksbZ Hkh fodYi a,
b] ;k c lgh ugha gSA

44-44-44-44-44- Hkkjr ,d la?k gS] D;ksafd%

a) la?kokn ,d laoS/kkfud lEesyu ds :i
esa çpfyr gSA

b) lafo/kku ljdkj ds rhu Lrjks a dk
çko/kku djrk gSA

c) U;kf;d loksZPprk gSA

d) U;k;ikfydk Lora= gSA

45-45-45-45-45- fuEufyf[kr ij fopkj djsa%

1- vf/kdkj ukxfjdksa }kjk dsoy jkT; ds
le{k fd, x, nkos gSaA

2- vf/kdkj vkSj drZO; ijLij lacaf/kr gSaA

Hkkjrh; lafo/kku ds lanHkZ esa fn, x, dFkuksa esa
ls dkSu lk@ls lgh gS@gSa\

a) dsoy 1 b) dsoy 2

c) nksuksa d) dksbZ ugha

46-46-46-46-46- tyks<+ feêh ds laca/k esa fuEufyf[kr dFkuksa
ij fopkj djsa%

1- tyks<+ feêh vkerkSj ij QkLQksjl esa
vi;kZIr vkSj iksVk'k esa le`) gksrh gSA

2- [kknj ck<+ ds eSnkuksa ls nwj tek gqbZ
iqjkuh tyks<+ gSA

3- ckaxj ubZ tyks<+ gS vkSj çfro"kZ ck<+
}kjk tek gksrh gSA

4- [kknj vkSj ckaxj nksuksa feêh esa dSfY'k;e
;qä la?kuu fufgr gksrh gSA

Åij fn, x, dFkuksa esa ls dkSu ls lgh gSa\

a) dsoy 1 vkSj 2 b) dsoy 2 vkSj 3

c) dsoy 1 vkSj 4 d) dsoy 2 vkSj 4

47-47-47-47-47- fuEufyf[kr ioZr J̀a[kykvksa dks nf{k.k ls mÙkj
dh vksj O;ofLFkr djsa%

1- taLdkj ioZrekyk

2- ihj iatky ioZrekyk

3- dkjkdksje ioZrekyk

4- yík[k ioZrekyk

uhps fn, x, dwV ls lgh Øe dk p;u djsa%

a) 1&2&4&3 b) 1&2&3&4

c) 2&1&4&3 d) 2&3&1&4
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42. Which of the following is/are the
necessary condition/s required to
ensure the effectiveness of a
Constitution?

1. It should be a written document.

2. It should provide for a strong
central government.

3. It should provide for the
sovereignty of the Parliament.

Select the correct answer from the
codes given below:

a) 1 and 2 only

b) 2 only

c) 3 only

d) None of the above

43. Which among the following is correct
about the notion of state in the context
of polity?

a) An organized political
community with a government
having authority over a defined
area.

b) A group of people having only
internal sovereignty making rules
for self-government

c) An association of people sharing
common cultural features
governing a territory.

d) None of the options a, b, or c is
correct about the term state.

44. India is a federation because:

a) Federalism is practised as a
Constitutional convention.

b) The Constitution provides for
three levels of government.

c) There is judicial supremacy.

d) The judiciary is independent.

45. Consider the following:

1. Rights are the claims made by the
citizens against the state only.

2. Rights and duties are correlative.

Which of the given statements is/are
correct in the context of the Indian
Constitution?

a) 1 only b) 2 only

c) Both 1 and 2 d) Neither 1 nor 2.

46. Consider the following statements
regarding alluvial soil:

1. Alluvial soil is generally poor in
phosphorus and rich in potash.

2. Khadar is the old alluvial deposited
away from the flood plains.

3. Bhangar is the new alluvial and is
deposited by the floods annually.

4. Both khadar and Bhangar soils
contain calcareous concretions.

Which of the above-given statements
are correct?

a) 1 and 2 only b) 2 and 3 only

c) 1 and 4 only d) 2 and 4 only

47. Arrange the following mountain
ranges from south to north.

1. Zaskar Range.

2. Pir Panjal Range.

3. Karakoram Range.

4. Ladakh Range.

Choose the correct order from the code
given below:

a) 1-2-4-3 b) 1-2-3-4

c) 2-1-4-3 d) 2-3-1-4
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4848484848- {ks=ksa vkSj HkkSxksfyd fo'ks"krkvksa ds fuEufyf[kr
;qXeksa ij fopkj djsa%

   {ks=   {ks=   {ks=   {ks=   {ks=     fo'ks"krk    fo'ks"krk    fo'ks"krk    fo'ks"krk    fo'ks"krk

1- mÙkj&if'pe fgeky; djsok dk xBu

2- mÙkjk[kaM fgeky; nqvkj xBu

3- flfDde fgeky; f'kokfyd vkSj
nwu xBu

Åij fn, x, ;qXeksa esa ls dkSu lk@ls lgh
rjhds ls lqesfyr gS@gSa\

a) dsoy 1 b) dsoy 2 vkSj 3

c) dsoy 1 vkSj 3 d) 1] 2 vkSj 3

4949494949- fuEufyf[kr ;qXeksa ij fopkj djsa%

   lwph&   lwph&   lwph&   lwph&   lwph& I lwph&lwph&lwph&lwph&lwph& II

1- tUe nj & tula[;k esa ,d fuf'pr
vof/k ds nkSjku tUeksa dh la[;k
dks çkjafHkd ?kuRo esa tksM+k tkrk
gSA

2- e`R;q nj & ,d fuf'pr vof/k ds nkSjku
tula[;k esa gksus okyh ekSrksa
dh la[;kA

3- vkçoklu & tula[;k ds O;fä;ksa dh
la[;k tks fopkjk/khu le;kof/k
ds nkSjku fuokl LFkku NksM+dj
vU;= pys x,A

4- mRçokl & ,d gh çtkfr ds O;fä;ksa
dh la[;k tks fopkjk/khu
le;kof/k ds nkSjku dgha vkSj
ls vkokl esa vk, gSaA

Åij fn, x, ;qXeksa esa ls fdldk lqesyu
xyr gS\

a) dsoy 1 vkSj 2 b) dsoy 2 vkSj 3

c) dsoy 3 vkSj 4 d) dsoy 1 vkSj 4

50-50-50-50-50- 'kCn ^^vo'kks"k.k {kerk^^ vkSj ^^ogu {kerk^^
dk ç;ksx fdlds foe'kZ esa fd;k tkrk gS%

a) fodkloknh thofoKku

b) HkkSxksfyd fu;rRookn

c) jkstxkj çR;kLFkrk

d) lrr fodkl

51-51-51-51-51- fdlh ikfjfLFkfrdh ra= esa ÅtkZ çokg ds lanHkZ
esa fuEufyf[kr dFkuksa ij fopkj djsa%

1- m".k dfVca/kh; Lrjksa ds chp ÅtkZ çokg
f}fn'k gSA

2- çR;sd iks"kh Lrj ij vuqi;ksxh Å"ek ds
:i esa ÅtkZ dk ºzkl gksrk gSA

mijksä dFkuksa esa ls dkSu lk@ls lgh gS@gSa\

a) dsoy 1 b) dsoy 2

c) nksuksa d) dksbZ ugha

52-52-52-52-52- fuEufyf[kr esa ls fdl çdkj dh tyok;q esa
e`r ouLifr rsth ls fodflr gksrk gS] ftlls
feêh esa [kkn dh ek=k cgqr de gks tkrh gS\

a) VqaMªk tyok;q

b) le'khrks".k çdkj dh tyok;q

c) vknZz m".kdfVca/kh; vkSj Hkwe/;js[kh;
tyok;q

d) 'kq"d ;k v/kZ&'kq"d tyok;q {ks=
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48. Consider the following pairs of regions
and the physiographical features:

       REGION FEATURE

1. North-West - Karewa

Himalayas formation

2. Uttarakhand - Duar formation

Himalayas

3. Sikkim - Shivalik and

Himalayas Dun formation

Which of the pairs given above is/are
matched correctly?

a) 1 only b) 2 and 3 only

c) 1 and 3 only d) 1, 2 and 3

49. Consider the following pairs:

     List- I List- II

1. Natality The number of births
during a given period
in the population
that are added to the
initial density.

2. Mortality The number of
deaths in the
population during a
given period.

3. Immigration The number of
individuals of the
population who left
the habitat and gone
elsewhere during
the time period
under
consideration.

4. Emigration The number of
individuals of the
same species that
have come into the

habitat from
elsewhere during the
time period under
consideration.

Which of the above-given pairs are
matched incorrectly?

a) 1 and 2 only b) 2 and 3 only

c) 3 and 4 only d) 1 and 4 only

50. The terms “Absorptive Capacity” and
“Carrying capacity” are used in the
discourse of:

a) Evolutionary biology

b) Geographical determinism

c) Employment elasticity

d) Sustainable Development

51. Consider the following statements with
reference to Energy Flow in an
Ecosystem:

1. Energy flow is bidirectional
between tropic levels.

2. There is a loss of energy in the
form of unusable heat at each
trophic level.

Which among the above statements is/
are correct?

a) 1 only b) 2 only

c) Both 1 and 2 d) Neither 1 nor 2

52. In which of the following climate types,
dead vegetation is rapidly oxidized,
leaving very low humus content in the
soil?

a) Tundra climate

b) Temperate type climate

c) Humid tropical and equatorial
climates

d) Arid or semi-arid climate zones
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53-53-53-53-53- ukbVªkstu ;kSfxdhdj.k ls lacaf/kr fuEufyf[kr
dFkuksa ij fopkj djsa%
1- uhy gfjr 'kSoky thoeaMy ds ukbVªkstu

pØ esa egRoiw.kZ Hkwfedk fuHkkrs gSaA
2- cSDVhfj;k vkSj vU; e`nk tho gok ls

xSlh; ukbVªkstu ysrs gS a vkSj bls
jklk;fud :i esa ifjofrZr djrs gSa
ftldk mi;ksx ikS/ks dj ldrs gSaA

3- ukbVªkstu ;kSfxdhdj.k dh çfØ;k ls
tqM+h lHkh tSfod vfHkfØ;k,a ukbVªksftusl
uked ,atkbe }kjk mRçsfjr gksrh gSaA

4- dqN ukbVªkstu ;kSfxdhdj.k djus okys
thok.kqvksa dk ikni lewgksa] fo'ks"kdj
Qfy;ksa ds lkFk lgthoh laca/k gksrk gSA

Åij fn, x, dFkuksa esa ls dkSu ls lgh gSa\
a) dsoy 1 vkSj 2 b) dsoy 2 vkSj 4
c) dsoy 1] 2 vkSj 4 d) 1] 2] 3 vkSj 4

54-54-54-54-54- fuEufyf[kr ck;kse dk muds çeq[k ouLifr;ksa
vkSj thoksa ds lkFk lqesfyr djsa%
ck;k seck;k seck;k seck;k seck;k se ouLifr vkSj tho lewgouLifr vkSj tho lewgouLifr vkSj tho lewgouLifr vkSj tho lewgouLifr vkSj tho lewg
1- VqaMªk Lçwl vkSj ljhl`i
2- lokuk ?kkl] daVhyh >kfM+;k¡ vkSj gkFkh
3- jsfxLrku ukxQuh vkSj ljhl`i
4- VSxk       HksfM+;k] nsonkj vkSj phM+
mijksä ;qXeksa esa ls dkSu lk@ls lgh lqesfyr
gS@gSa\
a) dsoy 1 b) dsoy 2] 3 vkSj 4
c) dsoy 1] 3 vkSj 4 d) dsoy 1 vkSj 4

55-55-55-55-55- fuEufyf[kr dFkuksa ij fopkj djsa%
1- lrr fodkl inkoyh dks 1987 ds

czaVyS.M vk;ksx }kjk ifjHkkf"kr fd;k
x;k FkkA

2- lrr o`f) Hkkjr esa X;kjgoha iapo"khZ;
;kstuk ds fo"k;ksa esa ls ,d FkkA

Åij fn, x, dFkuksa esa ls dkSu lk@ls lgh
gS@gSa\
a) dsoy 1 b) dsoy 2
c) nksuksa d) dksbZ ugha

56-56-56-56-56- vk/kqfud le; esa lsok {ks= Hkkjr dh vFkZO;oLFkk
esa lcls vf/kd ;ksxnku nsrk gS] D;ksafd%

1- —f"k vkSj m|ksx ds fodkl ls lsokvksa
dk fodkl gqvkA

2- yksx vR;f/kd dq'ky gks x, gSaA

3- lcls vf/kd la[;k esa yksx lsok {ks= esa
dk;Zjr gSaA

Åij fn, x, dFkuksa esa ls dkSu lk@ls xyr
gS@gSa\

a) dsoy 1 b) dsoy 1 vkSj 2

c) dsoy 1 vkSj 3 d) dsoy 2 vkSj 3

57-57-57-57-57- oS'ohdj.k Hkkjr ds fy, dSls ykHknk;d gS\

1- mRiknu ds fy, fons'kh fuos'k

2- Hkkjr esa cgqjk"Vªh; daifu;ksa dh LFkkiuk

3- rduhdh çxfr dh enn ls rhoz fodkl

4- turk dk lekos'kh fodkl

Åij fn, x, dFkuksa esa ls dkSu ls xyr gSa\

a) dsoy 1 vkSj 2

b) dsoy 1] 2 vkSj 3

c) dsoy 1] 2 vkSj 4

d) 1] 2] 3 vkSj 4

58-58-58-58-58- Lora=rk ds ckn Hkkjr us fefJr vFkZO;oLFkk
e‚My viuk;k] D;ksafd%

1- Hkkjr ,d yksdrkaf=d ns'k FkkA

2- Hkkjr viuh dfe;ks a ds fcuk ,d
lektoknh e‚My pkgrk FkkA

3- Hkkjrh; lafo/kku dk –f"Vdks.k pje
lektoknh e‚My ds f[kykQ FkkA

4- Hkkjr dk rRdkyhu usr`Ro lektoknh
e‚My dk ç'kald ugha FkkA

mijksä dkj.kksa esa ls dkSu lk@ls xyr gS@gSa\

a) dsoy 1 vkSj 2 b) dsoy 1] 2 vkSj 4

c) dsoy 3 vkSj 4 d) dsoy 4
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53. Consider the following statements
related to the nitrogen fixation:
1. Cyanobacteria play a key role in

the nitrogen cycle of the biosphere.
2. Bacteria and other soil organisms

take gaseous nitrogen from the air
and convert it into a chemical form
that plants can use.

3. All biological reactions involving
the process of nitrogen fixation are
catalyzed by enzymes called
nitrogenases.

4. Some nitrogen-fixing bacteria
have symbiotic relationships with
plant groups, especially legumes.

Which of the above-given statements
are correct?
a) 1 and 2 only b) 2 and 4 only
c) 1, 2 and 4 only d) 1, 2, 3 and 4

54. Match the following biomes to their
dominant flora and fauna.
    Biomes Flora and Fauna
1. Tundra Spruce and Reptiles
2. Savannah Grasses, Thorny Shrubs

and Elephants
3. Desert Cactus and Reptiles
4. Taiga Wolves, Pines and Firs
Which of the above pairs is/are
correctly matched?
a) 1 only b) 2, 3 and 4 only
c) 1, 3 and 4 only d) 1 and 4 only

55. Consider the following statements:
1. The term sustainable development

was defined by the Brundtland
commission of 1987.

2. Sustainable growth was one of the
themes of the eleventh five-year
plan in India.

Which of the statements given above is/
are correct?
a) 1 only b) 2 only
c) Both 1 and 2 d) Neither 1 nor 2

56. In modern times, the service sector
contributes the most to India’s
Economy; because

1. The development of agriculture
and industry led to the
development of services.

2. People have become highly skilled.

3. Most numbers of people are
working in the service sector.

Which of the statements given above is/
are incorrect?

a) 1 only b) 1 and 2 only

c) 1 and 3 only d) 2 and 3 only

57. How Globalization is benefiting India?

1. Foreign Investment for
production.

2. Set-up of MNCs in India.

3. Fast development with the help of
technical advancement.

4. Inclusive development of people.

Which of the statements given above are
incorrect?

a) 1 and 2 only b) 1, 2 and 3 only

c) 1, 2 and 4 only d) 1, 2, 3 and 4

58. India adopted a mix-economy model
after independence; because:

1. India was a democratic country.

2. India wanted a socialist model
without its drawbacks.

3. The approach of the Indian
Constitution was against the
extreme socialist model.

4. India’s then leadership was not an
admirer of the socialist model.

Which of the above reasons is/are
incorrect?

a) 1 and 2 only b) 1, 2 and 4 only

c) 3 and 4 only d) 4 only
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5959595959- fuEufyf[kr esa ls dkSu lk@ls iwathoknh
vFkZO;oLFkk ds ldkjkRed ifj.kke gS@gSa\
1- ;g yksxksa dh Ø; 'kfä ij fuHkZj djrk gSA
2- ;g uokpkj dks c<+kok nsrk gSA
3- ;g cktkj esa çfrLi/kkZ dks c<+kok nsrk gSA
uhps fn, x, dwV dk ç;ksx dj lgh mÙkj dk
p;u djsa%
a) dsoy 1 b) dsoy 1 vkSj 3
c) dsoy 3 d) dsoy 2 vkSj 3

60-60-60-60-60- fuEufyf[kr esa ls dkSu lk@ls dFku lgh
ugha gS@gSa\
1- 1991 ds ckn —f"k {ks= ds fodkl nj esa

fxjkoV vkbZA
2- lkoZtfud fuos'k es a fxjkoV bl

ifj–'; dk çeq[k dkj.k gSA
3- lq/kkjksa ds ckn —f"k {ks= esa çfr O;fä

vk; esa o`f) gqbZ gSA
uhps fn, x, dwV dk ç;ksx dj lgh mÙkj dk
p;u djsa%
a) dsoy 1 vkSj 2
b) dsoy 3
c) 1] 2 vkSj 3
d) mijksä esa ls dksbZ ugha

61-61-61-61-61- /ofu rjaxksa ds laca/k esa fuEufyf[kr esa ls dkSu
lk@ls dFku lgh gS@gSa\
1- /ofu rjaxsa fuokZr esa ugha py ldrhaA
2- tSls&tSls rjax pyrh gS] d.k viuh

ek/; fLFkfr esa Åij vkSj uhps nksyu
djrs gSaA

3- fdlh fn, x, ek/;e esa leku HkkSfrd
ifjfLFkfr;ksa esa] vko`fÙk esa ifjorZu ds
lkFk /ofu dh xfr esa Hkkjh ifjorZu
gksrk gSA

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj dk
p;u djsa%
a) dsoy 1 b) dsoy 2 vkSj 3
c) dsoy 1 vkSj 3 d) 1] 2 vkSj 3

6262626262- fuEufyf[kr esa ls dkSu ls jksx thok.kq ls gksrs
gSa\

1- [kljk 2- flQfyl

3- nkn 4- ,aFkzsDl

5- cksVqfyTe

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj dk
p;u djsa%

a) dsoy 1] 2] 3 vkSj 5

b) dsoy 2] 3] vkSj 4

c) dsoy 2] 4] vkSj 5

d) 1] 2] 3] 4 vkSj 5

63-63-63-63-63- OgkbV&QkbZ lapkj rduhd D;k gS\

a) ;g lapkj ds fy, fo|qr pqEcdh; LisDVªe
ds –'; çdk'k Hkkx ds mi;ksx dks lanfHkZr
djrk gSA

b) ;g lapkj ds fy, cz‚McSaM ÝhDosalh ds
vç;qä ;k de mi;ksx okys fgLls ds
mi;ksx dks lanfHkZr djrk gSA

c) ;g ok;jysl lapkj rduhd dks lanfHkZr
djrk gS tks MsVk lapkfjr djus ds fy,
lQsn jks'kuh dk mi;ksx djrk gSA

d) ;g lkSj ÅtkZ ls pyus okyh cz‚McSaM
ok;jysl rduhd gSA

64-64-64-64-64- fuEufyf[kr dFkuksa ij fopkj djsa%

1- paæek ds de xq#Rokd"kZ.k ds dkj.k paæek
dh lrg ij varfj{k ;k=h dk æO;eku
?kV tk,xkA

2- paæek dh lrg ij ,d varfj{k ;k=h
nwljs varfj{k ;k=h dh ckr ugha lqu
ik,xkA

Åij fn, x, dFkuksa esa ls dkSu lk@ls lgh
gS@gSa\

a) dsoy 1 b) dsoy 2

c) nksuksa d) dksbZ ugha
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59. Which of the following is/are positive
outcomes of the capitalist economy?
1. It depends upon people

purchasing power.
2. It promotes innovation.
3. It promotes competition in the

market.
Select the correct answer using the code
given below:
a) 1 only b) 1 and 3 only
c) 3 only d) 2 and 3 only

60. Which of the following statements is/
are not correct?
1. After 1991, the growth rate of the

agriculture sector decelerated.
2. The decline in public investment

is the major reason for this
scenario.

3. The per capita income in the
agriculture sector has increased
after the reforms.

Select the correct answer using the code
given below:
a) 1 and 2 only
b) 3 only
c) 1, 2 and 3
d) None of the above

61. Which of the following statements is/
are correct regarding the sound waves?
1. Sound waves cannot travel

through a vacuum.
2. The particles oscillate up and down

their mean position as the wave
travels.

3. In a given medium under the
same physical conditions, the
speed of sound changes drastically
with a change in frequency.

Select the correct answer using the code
given below.
a) 1 only b) 2 and 3 only
c) 1 and 3 only d) 1, 2 and 3

62. Which of the following diseases are
caused by Bacteria?

1. Measles 2. Syphilis

3. Ringworm 4. Anthrax

5. Botulism

Select the correct answer using the code
given below:

a) 1, 2, 3 and 5 only

b) 2, 3, and 4 only

c) 2, 4, and 5 only

d) 1, 2, 3, 4 and 5

63. What is White-fi communication
technology?

a) It refers to use of the visible light
portion of the electromagnetic
spectrum for communication.

b) It refers to the use of an unused
or underused portion of
broadband frequencies for
communication.

c) It refers to the wireless
communication technology that
utilizes white light to transmit data.

d) It is a solar-powered broadband
wireless technology.

64. Consider the following statements:

1. The mass of an astronaut will
decrease on Moon’s surface due to
low gravitation of moon.

2. An astronaut on Moon’s surface
won’t be able to listen to another
astronaut.

 Which of the statements given above /
are correct?

a) 1 only b) 2 only

c) Both 1 and 2 d) Neither 1 nor 2
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6565656565- HkwfLFkj d{kk ds lanHkZ esa fuEufyf[kr dFkuksa
ij fopkj djsa%
1- ;g Hkwe/; js[kk ds lh/ks Åij ,d òÙkkdkj

Hkw&ledkfyd d{kk gSA
2- i`Foh ds pkjksa vksj ,d HkwfLFkj mixzg ds

ifjØe.k dh vof/k i`Foh dh ?kw.kZu
vof/k ds cjkcj gksrh gSA

Åij fn, x, dFkuksa esa ls dkSu lk@ls lgh
gS@gSa\
a) dsoy 1 b) dsoy 2
c) nksuksa d) dksbZ ugha

66-66-66-66-66- ^xzhu gkbMªkstu^ ds ckjs esa fuEufyf[kr esa ls
dkSu lk dFku lgh gS\
a) ;g v{k; ÅtkZ lzksrksa ls fctyh ds mi;ksx

ls mRiUu gksrk gSA
b) ;g ,d çcy xzhugkml xSl gSA
c) tc ÅtkZ ds lzksr ds :i esa mi;ksx

fd;k tkrk gS] rks blls gkfudkjd
mRltZu gksrk gSA

d) ou xzhu gkbMªkstu ds çk—frd HkaMkj gSaA
67-67-67-67-67- Hkkjr ds lUnHkZ esa ijfEcdqye] rqudknoq vkSj

is#ofjiYye fdlds uke gSa\
a) Vkbxj fjtoZ b) >hy
c) jkelj LFky d) cka/k

6868686868- Hkkjr ou fLFkfr fjiksVZ ds lanHkZ esa fuEufyf[kr
dFkuksa ij fopkj djsa%
1- ;g Hkkjrh; ou losZ{k.k }kjk çfro"kZ

çdkf'kr fd;k tkrk gSA
2- 2021 dh fjiksVZ ds vuqlkj mÙkj&iwohZ

Hkkjr esa oukoj.k esa o`f) gqbZ gSA
3- Hkkjr ou fLFkfr fjiksVZ 2021 us igyh

ckj Vkbxj fjtoZ esa oukoj.k dk vkdyu
fd;kA

Åij fn, x, dFkuksa esa ls dkSu lk@ls lgh
gS@gSa\
a) dsoy 1 vkSj 2 b) dsoy 2 vkSj 3
c) dsoy 3 d) 1] 2 vkSj 3

69-69-69-69-69- fuEufyf[kr esa ls dkSu ls Hkkjrh; vFkZO;oLFkk
ij ;wØsu&:l ;q) ds laHkkfor çHkko gSa\

1- pkyw [kkrs ds ?kkVs dks de djuk

2- mPp eqækLQhfr

3- mPp moZjd dhersa

4- v‚Vkseksckby dk mPp mRiknu

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj dk
p;u djsa%

a) dsoy 1 vkSj 2 b) dsoy 2 vkSj 3

c) dsoy 3 vkSj 4 d) dsoy 1 vkSj 4

70-70-70-70-70- ^fuiq.k Hkkjr* igy ds ckjs esa fuEufyf[kr
dFkuksa ij fopkj djsa%

1- ;g Ldwyh f'k{kk ds xzsM 3 ds var rd
ewyHkwr lk{kjrk vkSj la[;kRedrk ds
lkoZHkkSfed vf/kxzg.k dks lqfuf'pr djus
dk ç;kl djrk gSA

2- igy ds rgr 2025 rd y{; gkfly
fd;k tkuk gSA

3- bls lexz f'k{kk vfHk;ku ds ek/;e ls
foÙk iksf"kr fd;k tk jgk gSA

Åij fn, x, dFkuksa esa ls dkSu ls lgh gSa\

a) dsoy 1 vkSj 2 b) dsoy 2 vkSj 3

c) dsoy 1 vkSj 3 d) 1] 2 vkSj 3

71-71-71-71-71- gM+Iik lH;rk ds x`g fu;kstu ds ckjs esa
fuEufyf[kr dFkuksa ij fopkj djsa%

1- lkekU;r;k ?kj ,d ;k nks eafty Åaps
gksrs Fks] vkSj vkaxu ugha gksrs FksA

2- vf/kdka'k ?kjksa esa Luku ds fy, i`Fkd
{ks= FksA

Åij fn, x, dFkuksa esa ls dkSu lk@ls lgh
gS@gSa\

a) dsoy 1 b) dsoy 2

c) nksuksa d) dksbZ ugha
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65. With reference to Geostationary orbit,
consider the following statements:
1. It is a circular geosynchronous

orbit directly over the equator.
2. The period of revolution of a

geostationary satellite around the
Earth is equal to the Earth’s
rotation period.

Which of the statements given above is/
are correct?
a) 1 only b) 2 only
c) Both 1 and 2 d) Neither 1 nor 2

66. Which of the following statements is
correct about ‘Green hydrogen’?
a) It is produced with the use of

electricity from renewable energy
sources.

b) It is a potent greenhouse gas.
c) When used as the source of

energy, it leads to harmful
emissions.

d) Forests are natural reservoirs of
green hydrogen.

67. With reference to India,
Parambikulam, Thunakadavu, and
Peruvaripallam are the names of
a) Tiger reserves b) Lakes
c) Ramsar sites d) Dams

68. Consider the following statements with
reference to the India State of Forest
Report:
1. It is published annually by the

Forest Survey of India.
2. According to 2021 report, there is

an increase in forest cover in
North-East India.

3. India State of Forest Report 2021
assessed the forest cover in the
tiger reserves for the first time.

Which of the statements given above is/
are correct?
a) 1 and 2 only b) 2 and 3 only
c) 3 only d) 1, 2 and 3

69. Which of the following are the possible
impact of the Ukraine-Russia war on
the Indian Economy?

1. Narrowing of current account
deficit

2. High inflation

3. High fertilizer prices

4. High production of automobiles

Select the correct answer using the code
given below:

a) 1 and 2 only b) 2 and 3 only

c) 3 and 4 only d) 1 and 4 only

70. Consider the following statements
about the ‘NIPUN Bharat’ initiative:

1. It seeks to ensure the universal
acquisition of foundational
literacy and numeracy by the end
of Grade 3 of schooling.

2. Target under the initiative is to be
achieved by 2025.

3. It is being funded through
Samagra Shiksha Abhiyaan.

Which of the above-given statements
are correct?

a) 1 and 2 only b) 2 and 3 only

c) 1 and 3 only d) 1, 2 and 3

71. Consider the following statements
about the house planning of the
Harappan Civilisation:

1. Generally, houses were either one
or two storeys high, and
courtyards were absent.

2. Most of the houses had separate
bathing areas.

Which of the statements given above is/
are correct?

a) 1 only b) 2 only

c) Both 1 and 2 d) Neither 1 nor 2
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72-72-72-72-72- fuEufyf[kr esa ls dkSu ls fcanq tSu /keZ ls tqM+s
gSa\

1- tSu /keZ esa lcls egRoiw.kZ fopkj ;g gS
fd iwjh nqfu;k vuqçkf.kr gSA

2- tSu n'kZu ds vuqlkj lalkj {k.kHkaxqj
¼vfuR;½ vkSj fujarj ifjorZu'khy gSA

3- tSu /keZ dk ekuuk gS fd lalkj vukRe
gS D;ksafd blesa dqN Hkh LFkk;h ;k 'kk'or
ugha gSA

4- tSu /keZ dh f'k{kkvksa ds vuqlkj tUe
vkSj iqutZUe dk pØ deZ ls curk gSA

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj dk
p;u djsa%

a) dsoy 1 vkSj 2

b) dsoy 2 vkSj 3

c) dsoy 1 vkSj 4

d) dsoy 2 vkSj 4

73-73-73-73-73- vius ;knxkj xzUFk esa mUgksaus Hkkjr esa fczfV'k
'kklu ds vkfFkZd çHkko dh rh[kh vkykspuk
dhA mUgksaus dydÙkk fLFkr if=dk ̂n bafM;u
fejj* ds fy, yanu laoknnkrk ds :i esa Hkh
dke fd;kA 1899 esa mUgsa Hkkjrh; jk"Vªh;
dkaxzsl ds y[kuÅ vf/kos'ku ds v/;{k cuus
ds fy, vkeaf=r fd;k x;k FkkA

fuEufyf[kr esa ls fdl O;fäRo dk mYys[k
mijksä vorj.k esa fd;k x;k gS\

a) nknkHkkbZ ukSjksth

b) vkj-lh- nÙk

c) MCY;w-lh- cuthZ

d) lqjsaæukFk cuthZ

74-74-74-74-74- LFkk;h lsuk cuk, j[kus ds fy, fuEufyf[kr
esa ls dkSu lk mik; lqYrku vykmíhu f[kyth
}kjk ugha viuk;k x;k Fkk\

1- xaxk vkSj ;equk ds chp dh Hkwfe ls
fdlkuksa dh mit dk 50 çfr'kr dj
fu/kkZfjr fd;k x;k FkkA

2- vf/kd ^bäk^ dh vuqefrA

3- fnYyh ds pkj 'kgjksa esa ls lcls iqjkuk
¼nsgyh&,&dqguk½ blds fuokfl;ksa ls
[kkyh gks x;k Fkk] vkSj lSfudksa us ogka
?ksj Mky fn;k FkkA

4- LFkkuh; ljnkjksa ds dj yxkus ds vf/
kdkj jí dj fn, x,A

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj dk
p;u djsa%

a) dsoy 1 vkSj 2 b) dsoy 1 vkSj 4

c) dsoy 1] 2 vkSj 3 d) dsoy 2 vkSj 3

7575757575- fuEufyf[kr dks lqesfyr djsa%

      lwph&   lwph&   lwph&   lwph&   lwph&I

Hkwfe ds çdkjHkwfe ds çdkjHkwfe ds çdkjHkwfe ds çdkjHkwfe ds çdkj

1- osYyuoxkbZ

2- 'kkykHkksx

3- iYyhPpane

4- fr#ueVMDduh

lwph&lwph&lwph&lwph&lwph& II

ykHkkFkh ZykHkkFkh ZykHkkFkh ZykHkkFkh ZykHkkFkh Z

i- tSu laLFkkvksa dks nku esa nh xbZ Hkwfe

ii- eafnjksa dks migkj esa nh xbZ Hkwfe

iii- xSj&czkã.k fdlku Lokfe;ksa dh Hkwfe

iv- fdlh fo|ky; dh j[k j[kko dh Hkwfe

lgh lqesyu gS%

a) 1&ii 2&iii 3&i 4&iv

b) 1&iv 2&i 3&iii 4&ii

c) 1&iii 2&ii 3&iv 4&i

d) 1&iii 2&iv 3&i 4&ii
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72. Which of the following points
mentioned below are associated with
Jainism?

1. The most important idea in Jainism
is that the entire world is
animated.

2. According to Jain’s philosophy, the
world is transient (anicca) and
constantly changing.

3. Jainism believes that the world is
soulless (anatta) as there is nothing
permanent or eternal in it.

4. According to Jaina’s teachings, the
cycle of birth and rebirth is shaped
through karma.

Select the correct answer using the code
given below:

a) 1 and 2 only b) 2 and 3 only

c) 1 and 4 only d) 2 and 4 only

73. In his monumental work, he offered
scathing criticism of the economic
impact of British rule in India. He also
served as the London Correspondent
for a Calcutta-based journal, The Indian
Mirror. In 1899, he was invited to be
the President of the Lucknow session
of the Indian National Congress.

Which of the following personalities
mentioned below is referred to in the
above paragraph?

a) Dadabhai Naoroji

b) R.C. Dutt

c) W.C. Bonnerji

d) Surendranath Banerji

74. Which of the following measures were
not adopted by Sultan Alauddin Khalji
for maintaining a standing army?

1. The tax was fixed at 50 per cent of
the peasant’s yield from lands
between the Ganga and Yamuna.

2. Granting of more ‘Iqtas’.

3. The oldest of the four cities of
Delhi (Dehli-i Kuhna) was emptied
of its residents, and the soldiers
garrisoned there.

4. The rights of the local chieftains to
levy taxes were cancelled.

Select the correct answer using the code
given below:

a) 1 and 2 only b) 1 and 4 only

c) 1, 2 and 3 only d) 2 and 3 only

75. Match the following:

 List-I

Types of Land

1. Vellanvagai

2. Shalabhoga

3. Pallichchhandam

4. Tirunamattukkani

List- II

Beneficiaries

i. Land donated to Jaina institutions

ii. Land gifted to temples

iii. Land of non-Brahmana peasant
proprietors

iv. Land for the maintenance of a
school

The correct match is:

a) 1-ii 2- iii 3-i 4-iv

b) 1-iv 2- i 3-iii 4-ii

c) 1-iii 2- ii 3-iv 4-i

d) 1-iii 2- iv 3-i 4-ii
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76-76-76-76-76- fuEufyf[kr esa ls dkSu lk@ls Hkkjr esa U;kf;d
lfØ;rk dk ifj.kke jgk gS@jgs gSa\

1- dk;Zdkjh tokcnsgh esa o`f)

2- U;k; rd igqap esa lq/kkj

3- U;k;ikfydk dk yksdra=hdj.k

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj dk
p;u djsa%

a) dsoy 1 b) dsoy 2 vkSj 3

c) dsoy 3 d) 1] 2 vkSj 3

77-77-77-77-77- fuEufyf[kr dFkuksa ij fopkj djsa%

1- lHkh laoS/kkfud vf/kdkj dkuwuh vf/kdkj
gSaA

2- lHkh dkuwuh vf/kdkj laoS/kkfud vf/kdkj
gSaA

Åij fn, x, dFkuksa esa ls dkSu lk@ls lgh
gS@gSa\

a) dsoy 1 b) dsoy 2

c) nksuksa d) dksbZ ugha

78-78-78-78-78- fuEufyf[kr esa ls dkSu ls Hkkjrh; jkT; O;oLFkk
esa HkkbZpkjk c<+k ldrk gS\

1- vLi`';rk dk fuokj.k

2- ySafxd lekurk

3- vYila[;d vf/kdkjksa dk lEeku

4- ,d Hkk"kk dk çpkj

5- dsaæhdj.k dh uhfr

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj dk
p;u djsa%

a) dsoy 1] 2] vkSj 3

b) dsoy 3] 4 vkSj 5

c) dsoy 2] 3] 4 vkSj 5

d) 1] 2] 3] 4] vkSj 5

7979797979- ljdkj dh lalnh; ç.kkyh ds lanHkZ esa
^^lkewfgd mÙkjnkf;Ro^^ ds ckjs esa fuEufyf[kr
esa ls dkSu lk@ls xyr gS@gSa\

1- ;g fo/kkf;dk ds çfr eaf=Lrjh; ftEesnkjh
dks n'kkZrk gSA

2- ;g eaf=eaMy ds uhfrxr fu.kZ;ksa ij
lgefr dks l{ke cukrk gSA

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj dk
p;u djsa%

a) dsoy 1 b) dsoy 2

c) nksuksa d) dksbZ ugha

80-80-80-80-80- ,d thfor nLrkost ds :i esa lafo/kku dk
fuEufyf[kr esa ls D;k vFkZ ugha gS\

a) lafo/kku U;kf;d O;k[;kvksa ds v/khu
gSA

b) lafo/kku laln dks vius çko/kkuksa dks
çHkkoh cukus ds fy, dkuwu cukus dh
'kfä çnku djrk gSA

c) ;g laln dh laoS/kkfud 'kfä ds v/khu
gSA

d) lafo/kku esa la'kks/ku djus dh laln dh
'kfä csyxke gSA

81-81-81-81-81- ^^lkSj eaMy^^ ds lanHkZ esa fuEufyf[kr dFkuksa
ij fopkj djsa%

1- ikfFkZo xzgksa dk xq#Rokd"kZ.k tksfo;u
xzgksa dh rqyuk esa de gksrk gSA

2- ikfFkZo xzgksa dh rqyuk esa tksfo;u xzgksa
dk okrkoj.k iryk gSA

3- tksfo;u xzgksa dh rqyuk esa ikfFkZo xzgksa
dk ?kuRo vis{kk—r vf/kd gksrk gSA

Åij fn, x, dFkuksa esa ls dkSu lk@ls lgh
gS@gSa\

a) dsoy 1 vkSj 3 b) dsoy 3

c) dsoy 2 vkSj 3 d) 1] 2 vkSj 3
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76. Which of the following has/have been
the consequence/s of judicial activism
in India?

1. Enhancement of executive
accountability

2. Improvement in access to justice

3. Democratization of the judiciary

Select the correct answer using the code
given below:

a) 1 only b) 2 and 3 only

c) 3 only d) 1, 2 and 3

77. Consider the following statements:

1. All constitutional rights are legal
rights.

2. All legal rights are constitutional
rights.

Which of the statements given above is/
are correct?

a) 1 only b) 2 only

c) Both 1 and 2 d) Neither 1 nor 2

78. Which of the following can increase
fraternity in Indian polity?

1) Removal of untouchability

2) Gender equality

3) Respect for minority rights

4) Promotion of one language

5) Policy of centralization

Select the correct answer using the code
given below:

a) 1, 2, and 3 only

b) 3, 4 and 5 only

c) 2, 3, 4 and 5 only

d) 1, 2, 3, 4, and 5

79. Which of the following is/are incorrect
about “collective responsibility” in the
context of the parliamentary system of
government?
1. It denotes the ministerial

responsibility to the legislature.
2. It enables agreement on policy

decisions of the Cabinet.
Select the correct answer by using the
code given below:
a) 1 only b) 2 only
c) Both 1 and 2 d) Neither 1 nor 2

80. The Constitution as a living document
does not mean which of the following?
a) The Constitution is subject to

judicial interpretations
b) The Constitution provides power

to Parliament to make laws to give
effect to its provisions.

c) It is subject to the constituent
power of the Parliament

d) The unbridled power of the
Parliament to amend the
Constitution.

81. With reference to the ”solar system”,
consider the following statements:
1. The terrestrial planets have lower

gravity as compared to Jovian
planets.

2. The atmosphere of Jovian Planets
is thin as compared to terrestrial
planets.

3. The terrestrial planets have
relatively higher densities as
compared to Jovian planets.

Which of the statements given above is/
are correct? 
a) 1 and 3 only b) 3 only
c) 2 and 3 only d) 1, 2 and 3 
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82-82-82-82-82- leqæ ry ds foU;kl ds lanHkZ esa fuEufyf[kr
esa ls dkSu lk dFku xyr gS\

a) foryh; eSnku ìFoh ij lcls cM+s fuokl
LFkku gSaA

b) foryh; eSnku egk}hih; 'ksYQ dh rqyuk
esa vf/kd mRiknd ikfjfLFkfrd ra= gSaA

c) egk}hih; <yku egk}hih; 'ksYQ vkSj
egklkxjh; csfluksa dks tksM+rk gSA

d) e/; egklkxj dh dVd i`Foh ij lcls
yach ioZr Jà[kyk cukrh gSA

83-83-83-83-83- fuEufyf[kr dFkuksa ij fopkj djsa%

1- ftu tarqvksa us vius Mh,u, esa gsj&Qsj
dj ,d vfrfjä ¼ckgjh½ thu O;ä fd;k
gS] mUgsa ikjthoh tarq dgk tkrk gSA

2- thu Fksjsih chekfj;ksa] fo'ks"k :i ls
oa'kkuqxr chekfj;ksa ds bykt ds fy,
fdlh O;fä dh dksf'kdkvksa vkSj Årdksa
esa thu dk lfEeyu gSA

Åij fn, x, dFkuksa esa ls dkSu lk@ls lgh
gS@gSa\

a) dsoy 1 b) dsoy 2

c) nksuksa d) dksbZ ugha

84-84-84-84-84- laØfedk ds ckjs esa fuEufyf[kr dFkuksa ij
fopkj djsa%

1- laØfedk nks ;k nks ls vf/kd fofo/k
ikfjfLFkfrd ra=ksa ds chp ,d var%laca/k
gSA

2- ;g ,d ck;kse ls cM+k gksrk gSA

3- dksj çHkko vkerkSj ij laØfedk esa ik;k
x;k gSA

mijksä dFkuksa esa ls dkSu lk@ls lgh gS@gSa\

a) dsoy 1 b) dsoy 1 vkSj 3

c) dsoy 2 vkSj 3 d) 1] 2 vkSj 3

85-85-85-85-85- vi?kVu dh çfØ;k esa fuEufyf[kr pj.kksa ij
fopkj djsa%

1- fo[kaMu & vijnkgkjh vijn dks rksM+rs
gSaA

2- fu{kkyu & ty esa ?kqyu'khy vdkcZfud
iks"kd rRo feêh ds f{kfrt esa
uhps pys tkrs gSa vkSj vuqiyC/k
yo.k ds :i esa vo{ksfir gks
tkrs gSaA

3- vip; & thok.kq vkSj dod ,atkbe]
vijn dks ljy vdkcZfud
inkFkksaZ esa cny nsrs gSaA

Åij fn, x, ;qXeksa esa ls dkSu ls lgh gSa\

a) dsoy 1 vkSj 2

b) dsoy 2 vkSj 3

c) dsoy 1 vkSj 3

d) 1] 2 vkSj 3

8686868686- fofHkUu ljdkjh vk; ds lanHkZ esa fuEufyf[kr
ij fopkj djsa%

1- Mkd foHkkx }kjk vk;

2- jsyos }kjk ljdkj dks vk;

3- ljdkj }kjk lkoZtfud {ks= ds miØeksa
esa viuh fgLlsnkjh dks ?kVkdj çkIr fd;k
/ku

4- fjtoZ cSad ls ljdkj }kjk yh xbZ dtZ

mijksä esa ls dkSu ls ljdkj dh iwathxr
çkfIr;ksa dk fgLlk gSa\

a) dsoy 1] 2 vkSj 3

b) dsoy 2 vkSj 3

c) dsoy 3 vkSj 4

d) 1] 2] 3 vkSj 4
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82. With reference to ocean floor
configuration, which of the following
statements is incorrect?

a) Abyssal plains are the largest
habitat on Earth.

b) Abyssal plains are more
productive ecosystems than those
along the continental shelf.

c) The continental slope connects the
continental shelf and the ocean
basins.

d) The mid-ocean ridge forms the
longest mountain range on Earth.

83. Consider the following statements:

1. Animals that have had their DNA
manipulated to possess and
express an extra (foreign) gene
are known as transgenic animals.

2. Gene therapy is the insertion of
genes into an individual’s cells and
tissues to treat diseases, especially
hereditary diseases.

Which of the statements given above is/
are correct?

a) 1 only b) 2 only

c) Both 1 and 2 d) Neither 1 nor 2

84. Consider the following statements
about Ecotone:

1. Ecotone is an inter-junction
between two or more diverse
ecosystems.

2. It is larger than a biome.

3. Edge Effect  is typically observed
in Ecotone.

Which among the above statements is/
are correct?

a) 1 only b) 1 and 3 only

c) 2 and 3 only d) 1, 2 and 3

85. Consider the following steps in the
process of Decomposition:

1. Fragmentation - Detritivores
break down Detritus.

2. Leaching        - Water soluble
inorganic nutrients go down into
the soil horizon and get
precipitated as unavailable salts.

3. Catabolism    - Bacterial and
fungal enzymes degrade detritus
into simpler inorganic substances.

Which of the pairs given above are
correct?

a) 1 and 2 only b) 2 and 3 only

c) 1 and 3 only d) 1, 2 and 3

86. With reference to the different
government earnings, consider the
following:

1. Earnings by the Department of
Posts.

2. Earnings by Railways to Govt.

3. The government got money by
reducing its stake in Public Sector
Undertakings.

4. The government takes loans from
the Reserve Bank.

Which of the above are part of the
government’s capital receipts?

a) 1, 2 and 3 only b) 2 and 3 only

c) 3 and 4 only d) 1, 2, 3 and 4
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87-87-87-87-87- fuEufyf[kr esa ls fdl ekeys esa çPNUu
csjkstxkjh ekStwn gS\

1- tc ,d f'kf{kr ;qok Mªkboj dk dke
djrk gSA

2- tc dsoy nks dh vko';drk gks vkSj
ikap yksx [ksr esa dke djrs gSaA

3- tc ,d x`fg.kh vius ifr dh [ksr esa
enn djrh gSA

4- tc ,d f'kf{kr efgyk x`fg.kh ds :i
esa dke djrh gSA

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj dk
p;u djsa%

a) dsoy 1 b) dsoy 2

c) dsoy 1] 2 vkSj 4 d) mijksä lHkh

88-88-88-88-88- fuEufyf[kr ij fopkj djsa%

1- Hkkjr esa LFkkfir uksfd;k daiuh dh dekbZ

2- lÅnh vjc esa jgus okys Hkkjrh;ksa dh
vk;

3- flfyd‚u oSyh esa LFkkfir baQksfll bdkbZ
dh vk;

4- Hkkjr esa ,d vesfjdh f'k{kd dh vk;

Hkkjr dh ldy jk"Vªh; vk; esa mijksä esa ls
dkSu ls 'kkfey gS\

a) dsoy 1 vkSj 4

b) dsoy 1] 2 vkSj 4

c) dsoy 2 vkSj 3

d) 1] 2] 3 vkSj 4

8989898989- eqæk dh fofue; nj ds lanHkZ esa fuEufyf[kr
dFkuksa ij fopkj djsa%

1- eqæk dh fofue; nj fdlh ns'k dh vkfFkZd
etcwrh dk lwpd gSA

2- eqæk ds voewY;u dk eryc gS fd vk;kr
ds fy, vf/kd LFkkuh; eqæk dh
vko';drk gSA vr% vk;kr vf/kd egaxk
gks tkrk gSA

3- vxj ljdkj fdlh eqæk dh fofue; nj
r; djrh gS] rks ,slh ç.kkyh dks czsVu
oqM~l ç.kkyh dgk tkrk gSA

Åij fn, x, dFkuksa esa ls dkSu lk@ls xyr
gS@gSa\

a) dsoy 1 b) dsoy 2

c) dsoy 1 vkSj 3 d) dsoy 2 vkSj 3

9090909090- Hkkjr] ikfdLrku vkSj phu ds vkfFkZd fodkl
ds ckjs esa fuEufyf[kr dFkuksa ij fopkj djsa%

1- rhuksa ns'kksa esa Hkkjr dh çtuu nj lcls
vf/kd gSA

2- rhuksa ns'kksa esa ikfdLrku dk fyaxkuqikr
lcls vPNk gSA

3- rhuksa ns'kksa esa phu dh vkcknh lcls
T;knk gSA

Åij fn, x, dFkuksa esa ls dkSu lk@ls lgh
gS@gSa\

a) dsoy 1 b) dsoy 1 vkSj 3

c) dsoy 3 d) 1] 2 vkSj 3
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87. In which of the following cases,
disguised unemployment exists?

1. When an educated youth works
as a driver.

2. When five people work in the field,
only two are required.

3. When a housewife helps his
husband in field.

4. When an educated female works
as a housewife.

Select the correct answer using the code
given below

a) 1 only b) 2 only

c) 1. 2 and 4 only d) All of the above

88. Consider the following

1. Earning of Nokia company
established in India.

2. Income of Indians living in Saudi
Arabia.

3. Income of Infosys unit established
in Silicon Valley.

4. Income of an American teacher in
India.

Which of the above are included in the
India Gross National Income of India?

a) 1 and 4 only b) 1, 2 and 4 only

c) 2 and 3 only d) 1, 2 3 and 4

89. With reference to the exchange rate of
currency, consider the following
statements:

1. The exchange rate of a currency is
an indicator of the economic
strength of a country.

2. A devaluation of the currency
means that more local currency is
needed to purchase imports.
Hence, imports become more
expensive.

3. If the government fixes the
exchange rate of a currency, such
a system is called the Bretton
Woods system.

Which of the statements given above is/
are incorrect?

a) 1 only b) 2 only

c) 1 and 3 only d) 2 and 3 only

90. Consider the following statements
about the economic development of
India, Pakistan and China:

1. Among the three countries,
Pakistan has the highest share of
the service sector in GDP.

2. India has the highest percentage of
the workforce in Agriculture.

3. Among the three countries,
Pakistan has the lowest share of
manufacturing in GDP.

Which of the statements given above is/
are correct?

a) 1 and 2 only b) 1 and 3 only

c) 2 and 3 only d) 1, 2 and 3
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91-91-91-91-91- fuEufyf[kr dFkuksa ij fopkj djsa%

1- vktknh ds ckn] gkykafd çkFkfed {ks=
esa jkstxkj dk çfr'kr ?kV jgk gS]
Lojkstxkj dh fLFkfr c<+ jgh gSA

2- vktknh ds ckn fu;fer osruHkksxh
deZpkfj;ksa dk çfr'kr yxkrkj c<+ jgk
gSA

Åij fn, x, dFkuksa esa ls dkSu lk@ls xyr
gS@gSa\

a) dsoy 1 b) dsoy 2

c) nksuksa d) dksbZ ugha

92-92-92-92-92- fuEufyf[kr dFkuksa ij fopkj djsa%

1- çfr'kr ds lanHkZ esa Lojkstxkj esa iq#"kksa
ds çfr'kr dh rqyuk esa efgykvksa dk
çfr'kr vfËkd gSA

2- xzkeh.k Hkkjr esa] vf/kdka'k deZpkjh
Lo&fu;ksftr gSa tcfd 'kgjh Hkkjr esa
vf/kdka'k deZpkjh fu;fer osruHkksxh
deZpkjh gSaA

mijksä dFkuksa esa ls dkSu lk@ls lgh gS@gSa\

a) dsoy 1 b) dsoy 2

c) nksuks d) dksbZ ugha

93-93-93-93-93- fuEufyf[kr esa ls dkSu lh HkkSfrd ?kVuk
e#LFky esa ^e`xr`".kk* ds fuekZ.k ds fy,
mÙkjnk;h gS@gSa\

1- lEiw.kZ vkarfjd çfrfcac

2- viorZu

3- çdh.kZu

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj dk
p;u djsa%

a) dsoy 1 b) dsoy 1 vkSj 2

c) dsoy 2 vkSj 3 d) 1] 2 vkSj 3

94-94-94-94-94- tSo&fu;a=.k ,tsaVksa ds :i esa fuEufyf[kr esa
ls dkSu lk tho mi;ksx fd;s tk ldrs gSa\

1- cSDVhfj;k 2- dod

3- ok;jl 4- ijthoh

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj dk
p;u djsa%

a) dsoy 1] 2 vkSj 3 b) dsoy 1] 3 vkSj 4

c) 1] 2] 3 vkSj 4 d) dsoy 2 vkSj 4

95-95-95-95-95- fuEufyf[kr esa ls dkSu ls ;qXe lgh rjhds ls
lqesfyr gSa\

  ,flM  ,flM  ,flM  ,flM  ,flM ç;ksxç;ksxç;ksxç;ksxç;ksx

1- v‚Dlkfyd vEy fuekZ.k lkexzh cukus esa

2- ,Ld‚fcZd vEy iks"k.k iwjd ds :i esa

3- lY¶;wfjd vEy dkj cSVjh esa

4- QkeZfYMgkbM dk"B fojatu ,tsaV

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj dk
p;u djsa%

a) dsoy 1 vkSj 3 b) dsoy 2 vkSj 4

c) dsoy 2 vkSj 3 d) dsoy 1] 2 vkSj 3

96-96-96-96-96- fuEufyf[kr esa ls dkSu lk@ls ;qXe lgh <ax
ls lqesfyr ugha gS@gSa\

1- osc 1-0 & mi;ksxdrkZ baVjusV ij LFkSfrd
lwpukvksa dks i<+rs vkSj var%fØ;k djrs
gSaA

2- osc 2-0 & mi;ksxdrkZ vius Lo;a ds
MsVk dks fu;af=r dj ldrs gSaA

3- osc 3-0 & mi;ksxdrkZ baVjusV ij viuh
fo"k; oLrq cuk vkSj iksLV dj ldrs gSaA

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj dk
p;u djsa%

a) dsoy 1 b) dsoy 1 vkSj 2

c) dsoy 2 vkSj 3 d) 1] 2 vkSj 3
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91. Consider the following statements:

1. After independence, although the
percentage of employment in
primary sector is decreasing, the
status of self-employed is
increasing.

2. After independence, the
percentage of Regular Salaried
employees is continuously
increasing.

Which of the statement given above is/
are incorrect?

a) 1 only b) 2 only

c) Both 1 and 2 d) Neither 1 nor 2

92. Consider the following statements:

1. In terms of percentage, the
percentage of females is more self-
employed than the percent of
males.

2. In Rural India, most employees
are self-employed while in urban
India most employees are Regular
Salaried employees.

Which of the statement given above is/
are correct?

a) 1 only b) 2 only

c) both 1 and 2 d) Neither 1 nor 2

93. Which of the following physical
phenomena is/are responsible for the
formation of ‘Mirage’ in deserts?

1. Total Internal Reflection

2. Refraction

3. Dispersion

 Select the correct answer using the
code given below:

a) 1 only b) 1 and 2 only

c) 2 and 3 only d) 1, 2 and 3

94. Which among the following organisms
can be used as bio-control agents?

1. Bacteria 2. Fungi

3. Virus 4. Parasites

Select the correct answer using the code
given below:

a) 1, 2 and 3 only b) 1, 3 and 4 only

c) 1, 2, 3 and 4 d) 2 and 4 only

95. Which of the following pairs are
correctly matched?

                 Acid           Use

1. Oxalic Acid In making building
material

2. Ascorbic Acid As nutritional
supplement

3. Sulphuric Acid In car batteries

4. Formaldehyde Wood bleaching
agent

Select the correct answer using the code
given below.

a) 1 and 3 only b) 2 and 4 only

c) 2 and 3 only d) 1, 2 and 3 only

96. Which of the following pairs is/are not
correctly matched?

1. Web 1.0 – Users read and interact
with the static information on the
internet

2. Web 2.0 – Users can control their
own data

3. Web 3.0 – Users can create and
post their content on the internet

Select the correct answer using the code
given below:

a) 1 only b) 1 and 2 only

c) 2 and 3 only d) 1, 2 and 3
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97-97-97-97-97- Hkkjr ds bfrgkl ds lanHkZ esa fuEufyf[kr esa
ls dkSu lk@ls dFku lgh gS@gSa\

1- HkkLdjoeZu dke:i lkezkT; ds 'kkld
FksA

2- vykmíhu f[kyth HkkLdjoeZu ds
ledkyhu FksA

3- HkkLdjCnk esa ;qx dh x.kuk HkkLdjoeZu
ds jkT;kfHk"ksd dh frfFk ls dh tkrh gSA

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj dk
p;u djsa%

a) dsoy 1 b) dsoy 2 vkSj 3

c) dsoy 1 vkSj 3 d) 1] 2 vkSj 3

98-98-98-98-98- ^dSlj&,&fgan^ frryh ds lanHkZ esa fuEufyf[kr
dFkuksa ij fopkj djsa%

1- ;g dsoy Hkkjr esa ikbZ tkus okyh LFkkfud
çtkfr gSA

2- v#.kkpy çns'k ljdkj us bls jkT;
frryh ?kksf"kr fd;k gSA

mijksä dFkuksa esa ls dkSu lk@ls lgh gS@gSa\

a) dsoy 1 b) dsoy 2

c) nksuksa d) dksbZ ugha

99-99-99-99-99- egkjRu dk ntkZ nsus ds fy, ik=rk ekunaM
ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj djsa%

1- egRoiw.kZ oSf'od mifLFkfr ;k varjkZ"Vªh;
lapkyuA

2- lsch ds fu;eksa ds rgr U;wure fu/kkZfjr
lkoZtfud 'ks;j/kkfjrk ds lkFk Hkkjrh;
LV‚d ,Dlpsat esa lwphc)A

3- fiNys rhu o"kksaZ ds nkSjku #i;s 20]000
djksM+ ls vf/kd dk vkSlr okf"kZd
dkjksckj A

Åij fn, x, dFkuksa esa ls dkSu ls lgh gSa\

a) dsoy 1 vkSj 2 b) dsoy 1 vkSj 3

c) dsoy 2 vkSj 3 d) 1] 2 vkSj 3

100-100-100-100-100- fodkl dh orZeku fLFkfr ds lkFk] —f=e
ckSf)drk ds çHkkoh vuqç;ksx D;k gSa\

1- jsfM;ksltZjh esa ç;qä

2- —f"k {ks= esa feêh dh fLFkfr dk fu/kkZj.k
djuk

3- jksx funku

4- ikB ls okd ifjorZu

5- ekSle dh Hkfo";ok.kh

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj dk
p;u djsa%

a) dsoy 1] 2] 3 vkSj 5

b) dsoy 1] 3] vkSj 4

c) dsoy 2] 4] vkSj 5

d) 1] 2] 3] 4 vkSj 5
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97. With reference to history of India,
which of the following statements is/are
correct?

1. Bhaskaravarman was the ruler of
the Kamrupa kingdom.

2. Alauddin Khilji was the
contemporary of
Bhaskaravarman.

3. Bhaskarabda is an era counted
from the date of the accession of
Bhaskaravarman.

Select the correct answer using the code
given below:

a) 1 only b) 2 and 3 only

c) 1 and 3 only d) 1, 2 and 3

98. With reference to ‘Kaiser-i-Hind’
butterûy, consider the following
statements:

1. It is endemic species found only
in India.

2. Arunachal Pradesh government
has declared it as a State butterfly.

Which of the statements given above is/
are correct?

a) 1 only b) 2 only

c) Both 1 and 2 d) Neither 1 nor 2

99. With reference to the eligibility criteria
for grant of Maharatna status, Consider
the following statements:
1. The significant global presence or

international operations.
2. Listed on the Indian stock

exchange, with a minimum
prescribed public shareholding
under SEBI regulations.

3. An average annual turnover of
more than Rs. 20,000 crores
during the last three years.

Which of the statements given above are
correct?
a) 1 and 2 only b) 1 and 3 only
c) 2 and 3 only d) 1, 2 and 3

100. With the present state of development,
what are the effective applications of
Artificial Intelligence?
1. Used in Radiosurgery
2. To determine the condition of the

soil in agriculture field
3. Disease diagnosis
4. Text-to-speech conversion
5. In weather prediction
Select the correct answer using the code
given below:
a) 1, 2, 3 and 5 only
b) 1, 3, and 4 only
c) 2, 4, and 5 only
d) 1, 2, 3, 4 and 5
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